
[image: image1.jpg]) SIC PERMANET

| _rocus | 4
Ontario

VT INCEPIT

2\




ONTARIO

ENERGY

BOARD

	FILE NO.:
	EB-2011-0073
	

	VOLUME:

DATE:

	Technical Conference
October 21, 2011

	


EB-2011-0073
THE ONTARIO ENERGY BOARD

IN THE MATTER OF the Ontario Energy Board Act, 1998, S.O. 1998, c. 15, (Schedule B);
AND IN THE MATTER OF an application by Oshawa PUC Networks Inc. for an order approving just and reasonable rates and other charges for electricity distribution to be effective January 1, 2012.
Hearing held at 2300 Yonge Street,

25th Floor, Toronto, Ontario,

on Friday, October 21st, 2011,

commencing at 9:38 a.m.
--------------------

TECHNICAL CONFERENCE
--------------------

LJUBA DJURDJEVIC
Board Counsel

CHRISTIE CLARK
Board Staff

RICHARD BATTISTA

FIONA O'CONNELL

JAMES SIDLOFSKY
Oshawa PUC Networks Inc.

DAVID SAVAGE
PHIL MARTIN

DENISE FLORES

RANDY AIKEN
Energy Probe

DAVID MacINTOSH

JAY SHEPHERD
School Energy Coalition (SEC)

DEB DEVGAN

BILL HARPER
Vulnerable Energy Consumers’ Coalition (VECC)

1--- On commencing at 9:38 a.m.


1Appearances


2OSHAWA PUC NETWORKS – PANEL 1


D. Savage, P. Martin, D. Flores
2Questions by Mr. Aiken


9Questions by Mr. Harper


20--- Recess taken at 10:10 a.m.


20--- On resuming at 11:36 a.m.


20Questions by Mr. Shepherd


53--- Luncheon recess at 12:39 p.m.


53--- On resuming at 1:34 p.m.


111--- Whereupon the conference adjourned at 3:27 p.m.





63EXHIBIT NO. KT1.1:  Handout entitled "Smart Meter Model IRs Board Staff".


67EXHIBIT NO. KT1.2:  OPUCN rrr 2.113.


68EXHIBIT NO. KT1.3:  COMPARISON OF YEAR-END FINANCIAL REPORTING WITH REGULATORY REPORTING, ACCOUNTS 1555 AND 1556.


79EXHIBIT NO. KT1.4:  BOARD HANDOUT TITLED "OSHAWA EB-2011-0073 MIFRS"


99EXHIBIT NO. KT1.5:  TABLE 10 FROM PREFILED EVIDENCE, ENTITLED "FIXED ASSET CONTINUITY SCHEDULE, 2011."




4UNDERTAKING NO. JT1.1:  TO PROVIDE A COMPLETE REVENUE REQUIREMENT WORK FORM CONSISTENT WITH THE REVENUE SUFFICIENCY/DEFICIENCY SHOWN ON PAGE 7 OF THE OCTOBER 13, 2001 UPDATE.


7UNDERTAKING NO. JT1.2:  TO PROVIDE CONTINUITY TABLE THAT SHOWS THE DIFFERENCE FOR EACH OF THE LINE ITEMS THAT IS CHANGED IN THE REVENUE SUFFICIENCY/DEFICIENCY IN THE UPDATE SHOWING THE DIFFERENCE, A SHORT DESCRIPTION OF WHAT IS DRIVING THE DIFFERENCE, AND A REFERENCE TO THE EVIDENCE AND THE IR RESPONSES, THE TECHNICAL CONFERENCE QUESTIONS, ET CETERA, SUPPORTING THAT CHANGE.


11UNDERTAKING NO. JT1.3:  TO IDENTIFY INTEREST RELATED TO REGULATORY ASSET ACCOUNTS FOR 2010 AND FORECASTS FOR 2011 AND 2012


12UNDERTAKING NO. JT1.4:  TO RECONCILE RESPONSE TO TCQ-6 RE TYPES OF METERS FOR GS LESS THAN 50 CUSTOMERS WITH SHEET I7 IN COST ALLOCATION MODEL


15UNDERTAKING NO. JT1.5:  TO PROVIDE RERUN OF MODEL UPDATE.


17UNDERTAKING NO. JT1.6:  TO FOLLOW ENERGY PROBE QUESTION 15(B) BASED ON NEW COST ALLOCATION RESULTS AND PROVIDE THE RESULT.


23UNDERTAKING NO. JT1.7:  TO PROVIDE PORTION OF DIFFERENCE IN 2011 BETWEEN CGAAP AND IFRS THAT RELATES TO CATCH-UP.


48UNDERTAKING NO. JT1.8:  TO PROVIDE TABLES 4 Through 12 CONSISTENT WITH THE UPDATE.


65UNDERTAKING NO. JT1.9:  TO PROVIDE RESPONSE TO BOARD STAFF QUESTIONS SET OUT IN KT1.1.


66UNDERTAKING NO. JT1.10:  TO EXPLAIN DIFFERING CCA NUMBERS FOR BRIDGE YEAR.


66UNDERTAKING NO. JT1.11:  PROVIDE EQUIVALENT OF TABLES 37 AND 39 FOR TABLE 36 ON PAGE 15.


81UNDERTAKING NO. JT1.12:  TO INVESTIGATE AMOUNT OF $2.6 MILLION OF UNAMORTIZED ACTUARIAL LOSSES THAT OPUCN IS PROPOSING TO RECOVER IN A DEFERRAL ACCOUNT AT A LATER DATE, CONSIDERING THE AUDITED FINANCIAL STATEMENTS AS AT DECEMBER 31, 2010 SHOW NO CHANGE IN THE DISCOUNT RATE.


84UNDERTAKING NO. JT1.13:  to CONFIRM WHETHER THERE IS $2.6 MILLION OF UNAMORTIZED ACTUARIAL LOSSES AS AT JANUARY 1, 2011, AND IF SO, TO PROVIDE UNDERLYING ACTUARIAL VALUATION REPORT TO SUPPORT THAT NUMBER.


97UNDERTAKING NO. JT1.14:  to PROVIDE RESPONSES TO QUESTIONS 1 through 6 SET OUT IN EXHIBIT KT1.4.


103UNDERTAKING NO. JT1.15:  TO COMPARE LAST THREE LINES OF THE TABLE 32, TOTAL COMPENSATION, TOTAL COMPENSATION CHARGED TO OM&A, TOTAL COMPENSATION CAPITALIZED BETWEEN THE CGAAP AND MIFRS, AND EXPLAIN THE DIFFERENCE.


104UNDERTAKING NO. JT1.16:  FOR EACH OF 2011 BRIDGE AND 2012 TEST, TO CONFIRM THE BASIS ON WHICH THE TABLE WAS PREPARED, MIFRS OR CGAAP; AS NECESSARY, COMPLETE ON MIFRS AND/OR CGAAP BASIS AND COMPARE THE PILS EXPENSE UNDER EACH OF MIFRS AND CGAAP AND EXPLAIN THE DIFFERENCE.


105UNDERTAKING No. JT1.17:  to ANSWER QUESTION 10 ON KT1.4


105UNDERTAKING No. JT1.18:  to ANSWER QUESTION 11 ON KT1.4


110UNDERTAKING NO. JT1.19:  TO SHOW THE REDUCTION OF THE FORECASTED PURCHASE VOLUMES FOR CDM AND FOR LOSSES BEFORE THEY ARE ALLOCATED TO THE CUSTOMER CLASSES.




Friday, October 21, 2011

--- On commencing at 9:38 a.m.

MS. DJURDJEVIC:  Good morning, everybody.  My name is Ljuba Djurdjevic.  I am legal counsel to Board Staff, and we are sitting today in the matter of Ontario Energy Board File No. EB-2011-0073.  It's an application by Oshawa PUC Networks for an order approving just and reasonable rates effective January 1, 2012.  May I please have appearances?
Appearances

MR. SHEPHERD:  Jay Shepherd, School Energy Coalition.  With me is Deb Devgan.

MR. HARPER:  Bill Harper here for the Vulnerable Energy Consumers Coalition.

MR. AIKEN:  Randy Aiken for Energy Probe.  With me is David MacIntosh.

MR. SIDLOFSKY:  James Sidlofsky, Borden Ladner Gervais, here as counsel for Oshawa PUC.

MR. SAVAGE:  David Savage, corporate controller, Oshawa PUC.

MR. MARTIN:  Phil Martin, vice president finance and regulatory compliance, Oshawa.

MS. FLORES:  Denise Flores, vice president of engineering and operations, Oshawa PUC.

MS. DJURDJEVIC:  And on behalf of Board Staff, we have Christie Clark, Richard Battista and Fiona O'Connell.

As I understand, the parties have had some discussions about who will be proceeding first, and I understand it will be Energy Probe, followed by VECC, and then we may need a break before Schools can start its questions, or do you want to start right away?

MR. SHEPHERD:  I got the answers last night, so I can either ask them again or they can give them to me again, or I can have a chance to read them.

MS. DJURDJEVIC:  Very well.  So let's just start with Energy Probe and we will forge as far as we can.
OSHAWA PUC NETWORKS – PANEL 1

David Savage


Phil Martin


Denise Flores

Questions by Mr. Aiken


MR. AIKEN:  Thank you.  You will be happy to know that I don't have a lot of follow-up questions.  I did spend a few hours last night going through the responses to the Energy Probe questions.

My first question is on the response to question number 2 from Energy Probe, and it's just a clarification.  This had to do with the two different numbers in the net book values.

Am I correct that the lower of the two is the one that's being used in the calculation of the revenue requirement and in the revenue requirement work form, the updated one?

MR. SAVAGE:  That's right.  It's the lower number.

MR. AIKEN:  Question 15(b), this has to do with revenue-to-cost ratios.  I do have some questions here, but I know that Mr. Harper is going to have some follow-up on that, so I will leave that for now.

Question 16, part (c), the question asked for the total costs associated with the parent company board of directors for each year, 2004 through 2010, along with the forecast for 2011, 2012.  The response did not -- sorry, it gave numbers for 2004 to 2009 and for 2010, but it did not give the forecast for 2011 and 2012.  Can you provide those numbers?

MR. MARTIN:  The forecast for 2011 and 2012 as it's in the application is 155,000, which is for essentially one chairperson and seven additional board members.  Currently, we have one chair and six board members, but the plan, we believe, is for them to essentially replace the individual who left in February of this year

MR. AIKEN:  Okay, thank you.  Now, the last series of questions I have is not actually on the Energy Probe questions, but on the updated evidence.  This is the information that was filed October 13th.

MS. DJURDJEVIC:  Sorry to interrupt, Mr. Aiken.  I think there was some discussion about dealing with the technical conference questions first, and then we would look at the -- deal with questions arising from the updated evidence and the October 13th filing.

MR. AIKEN:  Well, this ties into the responses to the interrogatories and the technical conference questions, because a lot of the responses and technical conference questions refer to the update.

MS. DJURDJEVIC:  All right, proceed.

MR. AIKEN:  If you go to page 7 of 7 of the update, although I notice all the pages are page X of X, but, anyways, page 7.  This is the attachment, the revenue requirement work form, the revenue sufficiency/deficiency page.

Would you agree to an undertaking to provide a complete revenue requirement work form that matches this one page out of it?

MR. MARTIN:  Yes.

MR. AIKEN:  Thank you.

MS. DJURDJEVIC:  That will be undertaking JT.1.

MR. BATTISTA:  I believe that would be JT1.1.  I think we should give it a short description.  Can you give us a brief description?

MR. AIKEN:  To provide a complete revenue requirement work form consistent with the revenue sufficiency/ deficiency shown on page 7 of the October 13th, 2001 update.
UNDERTAKING NO. JT1.1:  TO PROVIDE A COMPLETE REVENUE REQUIREMENT WORK FORM CONSISTENT WITH THE REVENUE SUFFICIENCY/DEFICIENCY SHOWN ON PAGE 7 OF THE OCTOBER 13, 2001 UPDATE.

MR. BATTISTA:  Thank you.

MR. AIKEN:  Now, in conjunction with that, I have tried to compare this page with the similar page in the evidence to see the changes line by line.  And would it be possible for you to provide a table that went through, line by line, for example, distribution revenue, other operating revenue, rate base, operating expenses, that kind of thing, and highlight the difference between this update and the original evidence?  That's the first part.

The second part, explain the difference briefly?  For example, the change in distribution revenue, I know is partly due to the change in the CDM forecast.  I am not sure if there is something else that went into that.

And then also provide a reference to the interrogatory number or the technical conference question number that we would go to to see the reason for that change.

MR. MARTIN:  Is that necessary?

MR. AIKEN:  Yes, it is.

MR. MARTIN:  I ask that, because it's -- essentially there were a number of changes provided, and I am not sure that a list of each, the impact of each of those reference back to -- because the interrogatories might be multiple in nature.

So you might have one that refers to it, SEC might have one, et cetera, and I am not sure what that mapping -- what the value of the mapping is going to do, other than to satisfy some curiosity.

MR. AIKEN:  No, it's not curiosity.  It tells us what the starting point is for the settlement conference.  Right now, the starting point is your evidence, and we are going to have to track the changes that you have proposed.  And without the map, we are going to have to create our own map.

MR. MARTIN:  I am sort of suggesting the starting point is now this.

MR. AIKEN:  Okay.  Then I can go through line by line and ask you now:  What is driving the distribution revenue change in your update, other than the CDM change?

MR. MARTIN:  So we are back to your original request?

MR. AIKEN:  That's right.  As intervenors, we need to know what changes you have proposed in the update and where they are coming from.

MR. MARTIN:  Okay, we can do it.

MR. AIKEN:  Okay.  I would say that would be the second part of the first undertaking.

MS. DJURDJEVIC:  All right.  Can we just clarify that?  So, first of all, there is three parts to it and we want to make it one undertaking, or do we need three separate undertakings?

MR. AIKEN:  It doesn't matter to me.

MS. DJURDJEVIC:  Let's put them on the record to clarify, because there is a lot of discussion there.  So the next undertaking will be JT1.2, and if you can just provide a brief description, Mr. Aiken, of what it is you are looking for.


MR. AIKEN:  Yes, to provide a continuity table that shows the difference for each of the line items that is changed in the revenue sufficiency/deficiency in the update showing the difference, a short description of what's driving the difference, and a reference to the evidence and the IR responses, the technical conference questions, et cetera, supporting that change.
UNDERTAKING NO. JT1.2:  TO PROVIDE CONTINUITY TABLE THAT SHOWS THE DIFFERENCE FOR EACH OF THE LINE ITEMS THAT IS CHANGED IN THE REVENUE SUFFICIENCY/DEFICIENCY IN THE UPDATE SHOWING THE DIFFERENCE, A SHORT DESCRIPTION OF WHAT IS DRIVING THE DIFFERENCE, AND A REFERENCE TO THE EVIDENCE AND THE IR RESPONSES, THE TECHNICAL CONFERENCE QUESTIONS, ET CETERA, SUPPORTING THAT CHANGE.

MR. BATTISTA:  Just to clarify, with respect to the form, the work form, just to be sure, there is a column called "Initial Application."  Those are -- is it agreed that the numbers that -- is that the starting point?  Those are the original numbers as filed, and that –- they're supposed to be?

MR. AIKEN:  Yes, but they are not.

MR. BATTISTA:  Right.  So just to be clear, the numbers in the form in the October 13th document aren't the original filing, so just to be clear in terms of Randy's undertaking request, is the starting point the original filing numbers, and then the mapping to whatever the current revenue requirement work form version is subsequent to that?  Or is it some other -- or is it the number on the form?

MR. SHEPHERD:  Can I make a suggestion?  In Toronto, Horizon, Brampton and a number of others, we have exactly, I think, the continuity table you are talking about, showing the changes.  I wonder if we can simply provide one of those to the --


MR. BATTISTA:  As an example?

MR. SHEPHERD:  As an example of what we are looking for, because it has developed a standardized structure and we could provide it.

Does that make sense to you, Randy?

MR. AIKEN:  Yes, and in fact, I would suggest providing them the Waterloo North one, which was a very, very well-done one.

MR. SHEPHERD:  Okay.

MR. MARTIN:  Sorry, what was that?

MR. AIKEN:  Waterloo North provided a continuity schedule as part of their undertaking responses from their technical conference last year.

MR. MARTIN:  That would be helpful.

MR. BATTISTA:  Board Staff will provide that.

MR. SAVAGE:  Sorry, can you clarify or just finish that point about the revenue --


MR. BATTISTA:  Yes.  On the revenue requirement work form, the column called "Initial Application," the numbers in that should be the numbers as originally filed in the application, and I don't think it matches the numbers as originally filed.

MR. SAVAGE:  That's correct.

MR. BATTISTA:  Anything subsequent to that appears in the subsequent columns, but you always start with the -- so that we don't lose -- we have at least one firm starting point, that you always start with the numbers as originally filed.

Any subsequent changes agreed to by way of amendments or interrogatory responses and subsequent activities is captured later on, normally.

MR. SAVAGE:  Okay.  Thanks.

MR. AIKEN:  And those are my questions.

MS. DJURDJEVIC:  Mr. Harper?
Questions by Mr. Harper


MR. HARPER:  Again, I have had a chance to go through the responses and really what I'll be doing here is just addressing a follow-up on a few of the responses that you gave.

The first one, just to clarify, with respect to your response to VECC Technical Conference Question No. 1, which we were asking you about different models that could be used to forecast, and you expressed the view that your preference for your current model was the fact that it was linked to local economic conditions, and the variable you used was unemployment, if I am not mistaken; is that correct?

MR. MARTIN:  Yes, for Oshawa.

MR. HARPER:  I was just wondering, when it came to the forecast that you used for unemployment for 2011 and 2012, what was the source and basis for the forecast values that you used in the projection?

MR. MARTIN:  The source was we have a subscription to statistics, local statistics, municipal statistics from the Conference Board of Canada.  And that's the source, and we essentially used their historical and forecast information.

MR. HARPER:  So it was also a forecast of local unemployment rates for 2011 and 2012?

MR. MARTIN:  That's correct.

MR. HARPER:  Okay.  Fine.  Thanks.  That's just all I wanted to clarify on that.

Next if you could turn to VECC Technical Conference Question No. 5, and here we were asking you about the change -- this deals with revenue offsets, and you are asking about the change between 2010 and 2011 in the interest and dividend and income portion of the revenue offsets.

And the thing that caught my eye -- and it wasn't as much the dollar value as it was in the response you explained that the increase was due to two things; one was the increase in interest rates, and the other, you state, while the balance is due to higher interest earned on regulatory account balances.

And what I was wanting to clarify for the revenue offsets, do you include -- it sounded to me from that that you included in that line any revenue credits or charges that were associated with regulatory asset accounts were also reflected in that line for revenue offsets.  And is that the case?  Did you include interest charges or interest credits or debits on regulatory asset accounts?  Are they included in that line item for revenue offsets?

MR. SAVAGE:  They are, yes.

MR. HARPER:  Because normally, since those interest credits or debits are booked to a deferral or variance account and basically refunded or recovered through that variance account, they typically in other applications haven't been included in that line because you are getting refund or recovery in other process through the treatment of the regulatory asset accounts.

So I was wondering if it would be possible for you for the years '10, '11 and '12, for that interest and income account, break out and separate out the interest that's in there associated with regulatory asset accounts versus the other interest that -- the other portion that makes up the total.

MR. SAVAGE:  Sorry.  Yes, we will do that.

MR. HARPER:  I really don't need it for the half-year; just the actual for 2010, the total bridge year forecast for 2011 and the total test year forecast for 2012.

Those are the only three numbers I really need.

MR. SAVAGE:  Okay.

MS. DJURDJEVIC:  That will be Undertaking JT1.3.
UNDERTAKING NO. JT1.3:  TO IDENTIFY INTEREST RELATED TO REGULATORY ASSET ACCOUNTS FOR 2010 AND FORECASTS FOR 2011 AND 2012

MR. HARPER:  Okay.  Thank you.  The next question I have is a follow-up to VECC Technical Conference Question No. 6.

Here, if I look at part (a) of that question, we were asking you to confirm that all GS-less-than-50 customers use single-phase smart meters; more or less they have the same type of smart meters as residential customers do.

And you said no, they don't.  Some of them have single-phase smart meters, like residential customers.  Some of them have more complex meters.  That's my understanding of the response.

MS. FLORES:  Yes, that's true.

MR. HARPER:  Because the issue I had is when I went to your cost allocation model -- and I was looking at version 2 in sheet I7.1 -- when basically in that sheet there, what you do is you attribute -- single-phase smart meters seem to be -- all residential customers are attributed single-phase smart meters.  All GS-less-than-50 customers are assumed to have single one-phase meters, whereas this response says that some of them do and some of them don't.

And what I would ask you to do is you can either try and explain that now, or undertake to go back and see whether there needs to a correction to that I7.1 in your cost allocation model.

MR. MARTIN:  We will take it as an undertaking.  We have updated information on Board Staff questions for smart meters that provide for different amounts, but in terms of how it refers to the cost allocation, I think we will do it as an undertaking.

MS. DJURDJEVIC:  That will be Undertaking JT1.4.
UNDERTAKING NO. JT1.4:  TO RECONCILE RESPONSE TO TCQ-6 RE TYPES OF METERS FOR GS LESS THAN 50 CUSTOMERS WITH SHEET I7 IN COST ALLOCATION MODEL

MR. HARPER:  Okay.  I guess maybe before we sort of close -- because that was the first part of this.  The second part of this was the fact that in the I7.1, you show costs of $125 for smart meters and a cost of $300 for integral meters, and in part (b) of this question 6, we had asked you to basically explain what the basis for those numbers were and whether they were done on a comparable basis.  And again, as you said, you referred us to Board Staff Technical Conference Question No. 3, but in that question in response, I didn't see any numbers of 125 or 300.  I saw numbers of 103 and 352.

So maybe what you could do as part of that same undertaking is go back and confirm the appropriateness not only of the allocation of assets -- meters -- to different types of meters for the different customer classes, but also what's the unit cost you use and ensure that's comparable with what's actually filed in your cost allocation model.

MR. MARTIN:  Sure.  We will do it as an undertaking.

MR. HARPER:  Okay, thank you very much.

MS. DJURDJEVIC:  Just to clarify, was that part of undertaking JT1.4?

MR. HARPER:  I think it's probably part of the same thing, because, one, we are looking at what types of meters are used by each class, and the second thing is:  What is the cost associated with each of those types of meters and reconciling what's used in I7.1, which is the cost allocation with the response to Board Staff Technical Conference No. 3, where you are talking about the costs of smart meters.

My next one has to do with, I guess, VECC No. 8, Technical Conference No. 8.  And this sort of falls into the bailiwick of where Mr. Aiken was referring to his Technical Conference No. 15.

Maybe as a starting point, the easiest place to start at is to refer back to your evidence update, on page 9 of your evidence update.

And if I look at the first table in that updated evidence, that's the one that's dealing with the change in the revenue-to-cost ratios from what's in the cost allocation run that you make versus what you are proposing for 2012.  And I was wondering, first of all, and I hope you can -- I assume there is another run of the cost allocation model underlying the values that are presented in this table here?

MR. MARTIN:  If I understand the question, the tables that are in the update, they are essentially synchronized.

MR. HARPER:  Right, but I guess what you are doing is the table here shows the revenue-to-cost ratios from the 2012 cost allocation model.  I am assuming that you filed a version 2 of the model as part of the interrogatory responses, and then as part of the update here, you have changed the load forecast and you have changed a number of other cost items, I assume.

And I assume what you have done here is you re-ran the cost allocation model with that new load forecast so it would be consistent with your updated evidence; is that correct?

MR. MARTIN:  That's correct.

MR. HARPER:  And these are the ratios from that.  All I was wondering, if you re-ran it, if you could possibly just file with us a copy of that model update so -- because what you have got is the ratios here, and I would like to just see the background as to how though ratios were derived and how they link back to the updated evidence.

MR. MARTIN:  So you are wanting a copy of the model --


MR. HARPER:  Yes, sir, please.

MR. MARTIN:  Yes, sure.

MR. HARPER:  So if we could have an undertaking number for that, that would be great.

MS. DJURDJEVIC:  That will be JT1.5.
UNDERTAKING NO. JT1.5:  TO PROVIDE RERUN OF MODEL UPDATE.

MR. HARPER:  If I look at the actual proposals you have here and I go down the various customer classes, the one that intrigued me was street lighting, because it indicates here that the model, if I take the status quo everybody gets the same percentage increase, yielded a revenue-to-cost ratio of 86.9 percent for street lighting, and you're proposing to reduce that down to 70.4 percent.

And I was wondering if there was any particular reason why you were proposing to reduce the ratio for street lighting or move it further away from 100 percent.

MR. MARTIN:  The street lighting really was the -- after running the second set of models, et cetera, you can see that in most cases or in a number of cases we basically had to peg one to the bands.  So we didn't have a lot of room to manoeuvre this time, or at least there wasn't a lot of judgment applied.

So essentially the street lights became kind of a function of moving the rest of those groups around.  So essentially, as you can see, we left residential as per the model.  We moved some of the other groups so that they were within their bands, and essentially street lights kind of fell out in order to make the model balance.

MR. HARPER:  The problem I have with that response is if you look at residential, which is the one you referenced, you are actually increasing the ratio there from 91.6 to 95.3.

MR. MARTIN:  Sorry, that's correct.

MR. HARPER:  So it would seem to me that if in adjusting other people to the bands there was whatever revenue surplus because -- surplus or excess, you know, what you do is you are moving street lighting down and you are moving residential up.  Residential is higher than street lighting to begin with.

What I would like to suggest is that -- and this is very much in line with if you were to take the wording of VECC technical -- excuse me, Energy Probe Technical Conference No. 15 in part (b) where they were asking for you -- move everybody to the top or the bottom of the band, where they are outside the bands as is required, and then from just from gazing at that, it looks like there will be a revenue shortfall if you do that, because you have to move a number of people down and only some up.

So if there is a revenue short fall as a result of moving everybody to the top or the bottom of the band, take the lowest ratio that's below 100 percent, which looks like it's street lighting, and start moving it up.  And when you get to the next lowest ratio, which looks like it will be residential, start moving it up, too, and moving up in tandem, and how far do you have to increase everybody so that you have basically recovered your revenue shortfall, but all the ratios that are below 100 percent are basically -- have been moved up, because it looks like you are increasing one of the higher ones and reducing one of the lower ones, as opposed to increasing everybody who is below 100 percent.

So what I would like you to do is follow Energy Probe question 15(b) based on your new cost allocation results and provide us the result for that.

MS. DJURDJEVIC:  We have that undertaking.  It will be JT1.6.
UNDERTAKING NO. JT1.6:  TO FOLLOW ENERGY PROBE QUESTION 15(B) BASED ON NEW COST ALLOCATION RESULTS AND PROVIDE THE RESULT.

MR. MARTIN:  Just for clarification, we will agree to the undertaking, but we are not agreeing to the result in any way.

MR. HARPER:  No, we understand that.

MR. MARTIN:  All right.

MR. HARPER:  But if you do the calculation, then we can all at least agree on the calculation as opposed to us going away and doing the calculation, you having to then decide whether or not our numbers are right.  There will be a subsequent stage in this process whether we will talk about what we agree to and don't agree to, sort of thing.

MR. MARTIN:  Okay, fine.  Thanks.

MR. HARPER:  I would like to turn to the response to VECC Question No. 11, then.  Here, actually, I just want to be clear, because the reference to this was your response to VECC IR No. 30 where we had asked about the spending on concrete poles.  In the original response, you said there was no spending in 2009, and here you say there was spending in 2009.

So I just want to clarify that the response to the original VECC 30 IR was wrong and that there was actually spending on the concrete poles in 2009?

MS. FLORES:  The response that was given to the technical conference question is correct.  So there were poles replaced in 2009.

MR. HARPER:  Okay, fine.  Thank you very much.  And my final question follow-up deals with your response to VECC No. 13, and I just want to just to clarify.  The LRAM claim that you have in your current application, does it include a claim for 2010 programs?

MR. MARTIN:  Yes.  We estimate 5 million kilowatt-hours, which is essentially what we accomplished in 2009.  We don't have updated information from OPA, but we do have internal information that suggests that we are basically on par from the prior year.

MR. HARPER:  I understand from the response that we don't have the final information from OPA yet.  What are your thoughts or what is your proposal in terms of when you do get that final -- you based your 2010 claim on a forecast, which is really the best you have got at this point in time.

When you do get the final information from the OPA and if that number is different -- which the odds are more it's going to be different than it's going to be the same, if I can put it that way -- do you have any plans or proposal in terms of whether you plan to do any true-up or whether you just live with the results of the forecast regardless?  I would just like your thoughts on what your plans are on this at this point in time.

MR. MARTIN:  We hadn't planned on trueing it up, but we certainly -- if there is a process for that, either in the next IRM, to true it up, we can.

The intention here was just to capture something that was representative of what we felt that had occurred.

MR. HARPER:  Fine.  Thank you very much.  And those are all my questions.  Thank you.

MS. DJURDJEVIC:  Mr. Shepherd, did you want to continue, or should we take a break?

MR. SHEPHERD:  No, I thought I had made clear I would have to read these first.

MS. DJURDJEVIC:  Okay.  How much time do you think you need, Mr. Shepherd?

MR. SHEPHERD:  An hour at least.

MS. DJURDJEVIC:  All right, then.  Let's take a break until 11:30 or 11:15.  11:30?

MR. SHEPHERD:  That's fine.

MS. DJURDJEVIC:  11:30.  All right.

--- Recess taken at 10:10 a.m.

--- On resuming at 11:36 a.m.

MS. DJURDJEVIC:  Welcome back, everybody.  We are now going to continue with the technical conference questions from School Energy Coalition.
Questions by Mr. Shepherd

MR. SHEPHERD:  I have had a chance to read these now, and so I have a number of follow-ups.  My first follow-up is on Staff No. 2, and in (b) one of the things you say is that you have 2.4 million of substation transformer replacements.  You have transformers being delivered in September and October, so you have all those now?

MS. FLORES:  Yes, they have been delivered.

MR. SHEPHERD:  Oh, okay.  The next is a follow-up on Energy Probe No. 1.  I am going to get to follow-ups on SEC's questions first, but it just happens we are at the bottom of the pile.  And this is -- Energy Probe No. 1 asked about the increased costs of the board of directors, and you said last year was 75,000 and this year is 155; is that right?  Is that what I heard you say earlier today?

MR. MARTIN:  I said this year is 155.

MR. SHEPHERD:  And last year was 75.  We saw that from the original interrogatory response.

MR. MARTIN:  Yes, sorry.  The forecast is 155, but we are one -- essentially, we are one director short of the forecast.

MR. SHEPHERD:  I am just talking about the dollars.  So you have got 155 for 2011 and 75 for 2010, so the increase is 80, right, not 60?

MR. SAVAGE:  I think the 75 might relate to just the OPUC board members, and whereas the other number is the complete slate of directors.

MR. SHEPHERD:  All right.  And so that 155, 80 percent of it is borne by OPUC?

MR. SAVAGE:  OPUC, yes, 80 percent in 2010.

MR. SHEPHERD:  And 2011 and 2012, as well?

MR. SAVAGE:  2012 we have increased it to 87 -- I think it's 87.5.  It's in another question.

MR. SHEPHERD:  Oh, okay.  All right, thanks.

Then in Energy Probe No. 2 -- and you may have actually answered this one, because it was -- Randy did a follow-up question on this right at the very beginning where I was still trying to figure out where my piles were.

But I didn't understand the sentence that says:
"The principal factor behind the change was the decrease in average fixed assets in 2012 caused by an acceleration of depreciation in 2011 due to adjustments in remaining asset lives under MIFRS."


Can you help me understand what that means?

MR. SAVAGE:  That's -- under CGAAP, obviously all the assets or groups of assets had asset lives.  When we then componentized for MIFRS, in some cases certain assets that previously had rolled into one US of A account - I have talked about it separately where, under CGAAP, we weren't separating poles in their own US of A account.  They were in overhead.

There are several examples like that.  And tools and equipment is an example where it was previously rolled up into either underground or overground, and that would have a typical or an average useful life of 25 years.

On componentization, the grouping that fell into had a typical asset life of, say, ten years.  It was much shorter.  So when we redo everything under MIFRS, there are certain assets that may be 13 years old, and under CGAAP they would have had another 12 years of depreciation, but under MIFRS their asset life might be ten years, in which case they have already exceeded their useful life and there would be a catch-up in depreciation, effectively.

MR. SHEPHERD:  So there was an adjustment at the time of the opening balance?  When you went from December 31st, 2010 to January 1st, 2011, when you do the cross-over, right, you had an adjustment then based on assets that were now already at the end -- should be fully depreciated, but aren't yet?

MR. SAVAGE:  More closer to the end of their life.

MR. SHEPHERD:  Do we have a calculation of that catch-up amount?

MR. SAVAGE:  Yes, I believe we do.

MR. SHEPHERD:  Tell me where it is.

MR. SAVAGE:  I would have to take it as an undertaking.  I know we have it, so...

MR. SHEPHERD:  And then understand what I am looking for is not the difference in depreciation in 2011 between CGAAP and IFRS.  I am looking for the portion of that difference that relates to catch-up.

MR. SAVAGE:  I understand.

MR. SHEPHERD:  Right.  They are different things; right?

MR. SAVAGE:  Yes.

MS. DJURDJEVIC:  We will just give that undertaking a number, JT1.7.
UNDERTAKING NO. JT1.7:  TO PROVIDE PORTION OF DIFFERENCE IN 2011 BETWEEN CGAAP AND IFRS THAT RELATES TO CATCH-UP.

MR. SHEPHERD:  Thank you.  So now that amount, that catch-up amount, are you asking in your application to recover that somewhere?

MR. SAVAGE:  Yes, that would be part of the difference that falls out as a revaluation, if you like, and, yes, so we are asking for it over four years.

MR. SHEPHERD:  But you are asking for it as part of a broader amount, which is the difference on January 1st, 2012 of your rate base; right? So you have -- in addition to the change-over in 2011, you also have a difference in depreciation amount in 2011, and that has to be recovered, as well; right?

MR. SAVAGE:  Correct.

MR. SHEPHERD:  And that's actually a credit to ratepayers; right?

MR. SAVAGE:  Yes.  As submitted right now that's the case, yes.

MR. SHEPHERD:  As opposed to as you are going to submit?  Explain.

MR. SAVAGE:  No.  Well, it depends -- in one technical conference question, we are asked to use different assumptions on the useful lives.

MR. SHEPHERD:  Yes, of course, of course.

MR. SAVAGE:  That turns it the other way.  So in one instance per the evidence say October 14th, it goes -- that revaluation goes in one direction, whereas it goes the other direction under different assumptions for useful lives.

MR. SHEPHERD:  Okay.  I am going to come back to that in a minute.  I have a follow-up somewhere else.  I am looking at Energy Probe Technical Conference Question No. 6 on page 10, and this is -- it's actually follow-up to one of our interrogatories.

And you are asked about the cash flow impact of expensing post-retirement benefits on an accrual basis, and what you said was cash flow could be positive or negative and I didn't understand that.

Wouldn't cash flow be the same, because it's only driven by the cash side of it?  I didn't understand what your answer was.

MR. MARTIN:  I think, as I understood the question, you are asking what -- I think the question referred to why an accrual or an increase to the accrual account or the liability account would have an impact on cash flow.

MR. SHEPHERD:  Yes.

MR. MARTIN:  There is really two sides.  There are a number of transactions that are occurring that flow through the liability.  So when there are actual expenses being incurred, which affects the liability, draws the liability down, we are out of cash.  We pay for those benefits as they are being utilized.

On the other side of the coin, there are accruals that occur resulting more from valuation issues that, in fact, aren't cash.  In some years those can be -- in certain years, the cash component could be larger than the change associated with the accrual component.

So there are both types of transactions flowing through the expense and also flowing through the liability.  Some are cash and some are accruals.

MR. SHEPHERD:  I understand.  I guess -- so you have things like changes in discount rates and stuff like that.

MR. MARTIN:  Yes, those would be non-cash.  On the other hand, we have people going to doctors, et cetera, and cashing in on benefits which we pay for.  Those are cash.

MR. SHEPHERD:  Understood.  What I guess we didn't understand originally and I still don't understand from your answer is this was originally about working capital, right?  And you had the accrual amount as expense for working capital purposes, and we didn't understand why it wouldn't be the cash amount.

MR. MARTIN:  No, the accrual amount was never in the working capital.  What's in the working capital amount is - included in the working capital is the expense, so included in working capital are all controllable OM&A expenses.  So included in the OM&A expenses are the expenses related to post-retirement benefits, so as a result that expense is included in the working capital.

MR. SHEPHERD:  And that expense includes an accrual component that has no impact on cash flow; right?

MR. MARTIN:  Yes, but that could be positive or negative.  The accrual could actually be -- in years where the interest rates, for example, go up, we could reduce the liability, which would then have a credit to the expense account, right?

MR. SHEPHERD:  Okay.  But for the test year, it actually increased your OM&A, right?

MR. MARTIN:  Correct.

MR. SHEPHERD:  Do you know how much?  It was, like, a million dollars, something like that?

MR. MARTIN:  Actually, for the –- yes, the expense in total is a million dollars, and it's -- essentially it's about half and half accrual and expense.  We run about $500,000 historically of cash-based transactions through that account.

MR. SHEPHERD:  Wonderful.  Wonderful.  Thank you.

The next is -- and this is the first of a number of questions I guess I am going to ask about this, but I will start with this one because it's the easiest.  And again, you may have answered this already and I just missed it. And this is at page 25 of the Energy Probe Technical Conference Question, Question No. 25.

They asked why you used five years for the IFRS useful life, and what you talked about, aside from saying you took a conservative approach -- I will come back to that in a minute -- you said the average life of electronic components and the instability of smart meter performance; can you help us understand that?

This is the first I have heard of instability in smart meter performance or electronic components having a life that's different than this standard 15 years that people are using for smart meters.

MR. MARTIN:  The five years for smart meters, essentially the starting point for our estimate is smart meters are new technology in terms of application.  And we are moving from essentially a mechanical device to an electronic device that incorporates radio technology, some computing power, et cetera, et cetera.

If you look at comparable technologies, wireless telephones, wireless computers, et cetera, those would typically be five years, or, in fact, typically, they would be less than five years' depreciation.

So we view these devices for from not knowing exactly how long these things are going to last and how long the components are going to last.  We view them more as an electronic device, a wireless electronic device, and less as the typical or historical mechanical meter.

And essentially, that's the basis for the five years.

MR. SHEPHERD:  Things like cell phones and tablets and stuff like that, they have a short life primarily because of obsolescence; is that right?

MR. MARTIN:  I am not sure -- I am not sure I would characterize it as primarily, but certainly there is a technology component to it.

MR. SHEPHERD:  What I am wondering is to what extent is your useful life for smart meters driven by your expectation of obsolescence.

MR. MARTIN:  I don't believe we considered obsolescence as being a component of it at all, to be honest.

We're thinking more along the lines of if one of the components in a smart meter device fails, then in our discussions with our supplier, it's -- the likely fix is to install a new meter, not to replace the component.

So we are not looking at it from a technology sense; that's not the major consideration.

I would agree it's a narrow application, which doesn't necessarily lend itself to a technological obsolescence.

MR. SHEPHERD:  Do you have a warranty on these?

MR. MARTIN:  One year.

MR. SHEPHERD:  A one-year warranty?  Thanks.  Is that standard for that type of technology?

MR. MARTIN:  I am not sure.  It's certainly -- that was the offer from the supplier, which in our case is Elster.  So it's part of their standard agreement.  There was an option to choose extended warranties, but it didn't --


MR. SHEPHERD:  But it wasn't 15 years?

MR. MARTIN:  No.  I believe it was three, but don't quote me on that.

MR. SHEPHERD:  Okay.  Now I am into the School Energy Coalition questions, and the first one that I have a follow-up on is Question -- it's on page 3.  I think it's Question 4.

And you have provided this chart -- which is very helpful, thank you -- from the 2009 year book.  Do you think that this group of utilities is the appropriate set of comparators from Oshawa?

MR. MARTIN:  Yes.  It's principally our cohort group, so that's the comparators we choose for that reason, essentially.

MR. SHEPHERD:  But I am asking your opinion here.  Are these the utilities that, from a management point of view, you would look and say:  We really should compare ourselves to these?

MR. MARTIN:  Yes.

MR. SHEPHERD:  Okay.  Thank you.

The next one is Question 7, and it's on 5 of our responses.  And we asked about benchmarking that you do on customer service, and you talked about your conditions of licence and your customer service survey, but I guess I am wondering -- in the industry there are a number of external metrics available, right?  The EDA has them, the Canadian Electric Association has them, et cetera; there is a number of them.

Do you use any of those?

MR. MARTIN:  Not formally.

MR. SHEPHERD:  No?  Okay.

And then as part of Question 8, which starts on the same page but goes to the next page, you had -- this is what you went to your board with, with respect to your budget.

And I take it this is the only documentation you have of the variance in spending from the test year to the previous Board-approved year?  This is the only thing your board saw?

MR. MARTIN:  Yes.

MR. SHEPHERD:  Okay.  It's just a list, a side-by-side list.  Presumably, they asked you questions about it?

MR. MARTIN:  Yes.

MR. SHEPHERD:  Okay.  But there were no documents related to that?

MR. MARTIN:  No.

MR. SHEPHERD:  Okay.  Thanks.

And in here, it says base revenue requirement -- on page 6, you will see base revenue requirement 22,613, approved BRR 21,555.

Is that what your board actually approved, 21,555?

MR. MARTIN:  No.  That essentially refers to -- as you can see, the comparison is from the original, our last application, which was 2008, versus the preliminary application that existed in February at the time.

What we were pointing out or what we are obligated to point out to the board is that while we applied for 19.8 million in 2008, what we received was --


MR. SHEPHERD:  Was a million dollars less?

MR. MARTIN:  Was 18.8.  So really, that's the approved versus what was applied for, to give them sort of the context of what we were applying for.  Our board, you know, obviously, they need to understand that there is a certain risk involved in the application process.  So a good way of communicating that to them was to show them what happened in 2008.

MR. SHEPHERD:  So this 21,555 is not what they approved.  It's what you -- you basically said if the same thing happened this time, that would be the result?

MR. MARTIN:  Correct.

MR. SHEPHERD:  Okay, that's understandable.  The next is on our Question 11.  We asked you whether, in your agreements with your lenders, you assumed that the rate year and the fiscal year will be aligned.  And I couldn't tell from the answer whether the answer was, yes, you did assume that or, no, you didn't.

MR. MARTIN:  Historically -- so if in fact we -- so if I look at 2011, for example, we understand for 2011 that there is a rate change that was effective or would become effective May 1st.  So our operating plans obviously take those things into account, but there are decisions made obviously in terms of -- operating plans aren't just a set of numbers.  They are the result of decisions that need to be made, et cetera.

Going forward, it's really a matter of convenience.  It would be a lot simpler if we took that risk element out of the equation for that middle of the year rate change, because when you are -- in October or November when you are preparing a budget for the following year, the only thing you really know is what your rates are going to be for the first five months or for the first four months.

There is an element of risk now associated with the remaining eight months.  It would be much more palatable or much easier to have the rate year and the operating year align with the fiscal year.  It would take that element of risk away and allow us to do more precise operating plans.  And to the extent that it affects our lenders, it's really just an element of risk.

So we do have covenants with the lenders and some of them are financial in nature, and if we miss those covenants, then obviously we are in breach of the loan agreement.  It would be a lot simpler to de-risk those operating to plans to eliminate or at least allow us to agree to covenants that fit with those budgets or operating plans.

So there isn't any formal -- there isn't anything -- our operating plans are annual.  They are based on a calendar year.

MR. SHEPHERD:  Okay, so --


MR. MARTIN:  But our revenues obviously have an element of risk in them, because of the rate change that occurs halfway through the year.

MR. SHEPHERD:  You have answered a much bigger question than I was intending to ask, but that's fine.

School Energy Coalition agrees with you 100 percent that rate year and fiscal year should be aligned, so we are on the same page with that.  I am asking a much narrower question.

You have an agreement with TD Bank -- is it TD Bank?

MR. MARTIN:  Yes.

MR. SHEPHERD:  -- that has a bunch of covenants.  Presumably one of them is an operating plan budget -- covenant that says you will be within X percent of certain results in your operating plan; right?

MR. MARTIN:  Actually, no, there is not a covenant.

MR. SHEPHERD:  No?  Well, you referred in your evidence to financial targets in your agreements with the lenders --


MR. MARTIN:  Right, but we have things like interest rate coverage, which is a function of how much you earn, so we have to earn enough to be able to cover that interest rate coverage.  So it's those types of covenants.  We do not have a covenant that specifically says you have to be within a range of the operating plan.

MR. SHEPHERD:  And those covenants, were they calculated based on the assumption that you would align your fiscal and rate year, or calculated knowing that you had an existing deferral of your rate increase?

MR. MARTIN:  No.  They weren't, no.  They weren't -- no, to your first question.

MR. SHEPHERD:  Which, or neither?

MR. MARTIN:  Neither.  The covenants are essentially based on an operating plan.  Our operating plans obviously are ours to prepare.  So to the extent that we have the rate change in May, that's -- so I am going back to the risk element, but there isn't anything in the banking agreement that relates to the rates being effective January 1st.

MR. SHEPHERD:  You set your interest coverage.  Is that the only one that we are really talking about is your interest coverage ratio?

MR. MARTIN:  That's the principal one that relates to operating.

MR. SHEPHERD:  You set that each year, or is this the same deal you have had for several years?

MR. MARTIN:  No, it's the same.

MR. SHEPHERD:  So it was set at the time you knew your revenues were not going to increase January 1st?

MR. MARTIN:  Correct.

MR. SHEPHERD:  So you haven't changed that for 2012?

MR. MARTIN:  No, but we will be changing it when this particular debt agreement comes to term, which is December 2012.  So we do have a -- we are going to be prospectively looking into another financing.

MR. SHEPHERD:  So when you do that, you will know whether your rate year and fiscal year have been aligned, and presumably you will take that into account in setting the covenants; right?

MR. MARTIN:  Correct.

MR. SHEPHERD:  Okay, thanks.  In our Question 13, which is on page 9, we asked about risk impact assessments.  I take it that you don't do a formal risk analysis, a documented risk analysis; right?

MS. FLORES:  That's correct.  It's not documented.

MR. SHEPHERD:  This is engineers sitting around saying, Okay, what risk are we trying to -- I'm not denigrating the engineers.  This is how most utilities do it, but it is sitting around a room figuring out what the smartest thing to do is; right?

MS. FLORES:  Based on the criterias listed in the answer, yes.

MR. SHEPHERD:  Okay, thanks.  We asked a number of questions about your PP&E per customer, and we provided you, in fact, with a comparative chart, which indeed you have used similar numbers your own analysis of your cohort.

And what we are trying to get at here in our Question 16 is - and I couldn't understand the answer - why haven't you been investing more in your assets, given how low your assets are, how low the dollar figure is, relative -- on a per-customer basis?

You are way below your cohort, so I am trying to understand why you haven't already started to invest more.  I can help you with --


MR. MARTIN:  Sorry, it's a little bit -- we are -- the problem, we are -- the problem we are having a little bit here with this question is the fact that we are all fairly new.

MR. SHEPHERD:  No, I understand.

MR. MARTIN:  So I can answer I can attest to how the operating plans or capital plans were put together for the last two years, but I can't really suggest -- the comparison of the cohorts is something new for us.  It's one of the things that we use to convince our own board that we need to spend more, but the basis for our capital budgets really is from a bunch of engineers sitting around a room and determining what needs to be fixed, or what needs to be replaced, or what things do we need to invest in because of growth in the community, et cetera, et cetera.  So they are independent of comparisons to other LDCs, et cetera.

Now, we have had the benefit of two assessments over the last number of years, one in 2006, which was --

MR. SHEPHERD:  That's the Kinectrics study?

MR. MARTIN:  Yes, which was a fairly cursory -- again, we weren't here, but they didn't do any field work, et cetera.  It was more or less a discussion with the engineers that were there at the time and really talking about how old the assets were, et cetera.

So they're -- and in that report they suggested that in a few years you are going to have to start to accelerate your investment in cap-ex.

The last assessment that we had, which was more in-depth, it did involve a deeper dive into the age of the assets and some field work, et cetera.  It essentially tied together with the -- it essentially said the same thing from that perspective as the Kinectrics report.  We are going to have to invest fairly heavily over the next five- to 10-year period.

So I can't really bridge the gap between why we haven't been spending that amount of money, other than, obviously at the time those capital budgets were being mapped out, the assets that were determined to be replaced amounted, essentially, to that five- or six- or seven-year run rate.

We are now having to invest in things like transformers, kind of the heavy, the higher expenditure type thing, vehicles.  It's not as much a -- whereas I would suggest some of the capital projects we have been doing over the last three or four years have been more labour-intensive, less equipment.  Smart meters became a bit of a focus; that used up a lot of resources, et cetera.

What I can say is it was never a -- it wasn't a function of comparing to other cohorts or looking at trends or financing or any of those types of -- those types of things weren't taken into consideration.  It was basically just on a needs basis.  And at this point in time, according to those assessments, our needs are requiring us to invest much heavier than what we have been doing in the past.

And we did point out that comparison, as well, really for the same reason.  We believe it is indicative of the age of the assets that we are currently operating on, and therefore requires the investment.

MR. SHEPHERD:  When we look at other utilities who are in a similar situation, or even in some cases not in a similar situation but are under-invested, usually we see two explanations.  One is that the shareholder says:  No, conserve cash.  Don't spend the money.

So we had that problem with Toronto for a number of years, and it was widely talked about and it was referred to in a decision critically.

We also have had a few where the utility has been operated with a very high maintenance standard for a long time, and so older assets are just in better shape.

Are either of those explanations, are they applicable to Oshawa?

MR. MARTIN:  I will answer the first question and I will let Denise answer the second.

Our shareholder, we have been allowed to retain a fair amount of cash.  So we have, on average, $10 million in cash, and that -- our shareholder has essentially allowed us to retain that cash, you know, really for infrastructure investments.  So there has been no restriction from a financial perspective whatsoever.

Also, we have additional leverage capacity that's available to us under the current financing agreement, and it's quite substantial.  We have a $10 million operating line, for example, that we aren't using.  So for short-term cash, if we needed $10 million, we have it.

Under our current covenants, we could theoretically leverage upwards of another 50 or $60 million, depending how --


MR. SHEPHERD:  So there is no issue with being able to spend the money?

MR. MARTIN:  Correct.  That's never been a consideration in terms of not spending the money or not investing in any cap-ex.

MR. SHEPHERD:  Okay.  So then the second part of it is:  Is it reasonable to guess that your assets are relatively better maintained for their vintage than your peers'?

MS. FLORES:  I would say that I can't compare to my peers, but we do have a well-kept maintenance program, and over the years –- and that is indicative of the reports that we got from both Kinectrics and Metsco.

We do have a balance of service connection work and emergency repair work that we have to do given the current work force.  So that could explain why some of the capital work may have been deferred over the years.

MR. SHEPHERD:  All right.  Also on the same question, we asked about the decision to the capitalize overheads, and you haven't -- and we understood your evidence to be that:  We don't capitalize overheads, and that is why we don't have to make a change for IFRS.  But I now see in your update that you are making a change for IFRS, so you were capitalizing some overheads that now are no longer capitalizable, right?

MR. MARTIN:  That's correct.  We are 99 percent through our conversion for IFRS.  The time we put the application in, we were 50 percent complete, so we were essentially estimating the impact of IFRS.

We have capitalized overheads historically, based on burden rates that were established on costs that existed around 2008, 2009 time frame.

What we determined in our initial study was that those burdened rates were actually only capturing what we identified at the time as being expenses that would, in fact, qualify under IFRS, because under IFRS, certain overheads are, in fact -- if you can show that they are directly attributable or they are incremental.  You have probably heard that a few times.

MR. SHEPHERD:  No doubt.

MR. MARTIN:  In the process of completing the IFRS study, one of the things we did that we hadn't done up until the application was filed was to essentially sit down with our auditor and provide him with all the expenses that we believed were going to -- would qualify.

And he basically shortened that list, to say:  Well, there is a risk associated with some of these things, because they are either not directly attributable or it's pretty tough to show they are incremental.

So it was really based on that conversation that we adjusted our initial estimates.

MR. SHEPHERD:  So you are not at about half a million dollars a year in adjustment?

MR. MARTIN:  Correct.  And they relate principally to overhead associated with engineering, technicians, et cetera, as opposed to overheads associated with some of the other groups, labour, storage, warehousing, that type of thing.

MR. SHEPHERD:  All right.  So that 500,000 seems to be quite a low number relative to your capital spend.  If you compare it to the other utilities that have had to a make a similar adjustment, their adjustment is a bigger percentage, and that suggests that your capitalization policy before was a lot stricter.  You capitalized fewer things; is that fair?

MR. MARTIN:  Yes.  And that sort of led us to believe that, going forward, we wouldn't have any adjustment, in fact.  We thought we were -- so we essentially have been expensing -- or, sorry, capitalizing less than some of our other cohorts, et cetera.

MR. SHEPHERD:  So this may be one of the reasons why your PP&E is lower, because you have been capitalizing less; your OM&A would then be, on average, higher?

MR. MARTIN:  It could be, yes.

MR. SHEPHERD:  Okay.  Thanks.

In your response to our No. 18, we were asking about cost/benefit analyses, and you said you conducted them verbally.  I actually had never heard of a cost/benefit analysis being done verbally, because it's essentially a spreadsheet activity.

Can you help me understand how that was done?

MS. FLORES:  It's a similar process to the way we are doing our risk analysis.  So it's a discussion between our engineering and construction groups.  And we sort of, you know, have a review over the pros and cons of and the risk involved, and cost --


MR. SHEPHERD:  So it's the same discussion?

MS. FLORES:  It's essentially in the same meetings, yes.

MR. SHEPHERD:  So at no point did you actually do the math to say -- to quantify the benefits, quantify the costs, net present value to them?  That's never done?

MS. FLORES:  We quantify the costs, and the benefits were discussed, but the mathematical -- what you are alluding to was not done.

MR. SHEPHERD:  Thanks.  Have you ever talked about whether you should do that?  I mean, it's pretty common practice, right?

MS. FLORES:  I think going forward it's something we will consider.

MR. SHEPHERD:  Thanks. So then in your response to IR No. 20(b), you talk about a number of projects in your 2008 budget capital projects that didn't go ahead.  And the one that most interests me is the substation.  You have a $2 million substation that you planned to build then, and you are not ever going to build it?

MS. FLORES:  I am not saying we are not ever going to build it, but a lot depends on the development that will come through based on the 407 extension and the growth rate at that time.

MR. SHEPHERD:  Is this something that is simply location specific?  It happens to be in a location that you thought was going to be a growth area and it's not?

MS. FLORES:  At the time that it was planned, yes, it was.

MR. SHEPHERD:  I just have a few more questions.  We had a question about affiliates in our Question No. 28, and it was a two-part question we asked about why they didn't need a lot of focus from the parent company, the affiliates, which you answered, but we also asked how they have mature management and control processes.  They have no employees.  Can you help us understand that?

MR. MARTIN:  Yes.  I think it's more a case that they don't really require much in the way of ongoing management or processes that are unique to those affiliates.  I think, as we explained, the one affiliate currently, Energy Services, essentially it consists of 2-1/2 megawatt CHP plant that's attached to the university that's in Oshawa.  So essentially you have got one customer.

MR. SHEPHERD:  Doesn't it have an operator?

MR. MARTIN:  There is an operator.  There is a third party maintenance agreement with an outside operator.  Now, there are -- we do have an individual that is an employee of OPUC and who does do work for Energy Services as needed, so he does some monitoring.  He would discuss things with the third party operator, et cetera.

But any hours that he accumulates on behalf of Energy Services are charged over to the affiliate from OPUC and based on rates that are --


MR. SHEPHERD:  Based on time sheets?

MR. MARTIN:  Yes.  But there is a third party -- there is a third party that does the maintenance.  We have a third party who essentially does -- tracks and responds to whether we should be on or off.  So it's essentially managed principally by third party organizations.

MR. SHEPHERD:  Who does the billing and all that stuff?

MR. MARTIN:  OPUCN does the billing.

MR. SHEPHERD:  And you charge for that?

MR. MARTIN:  Yes.

MR. SHEPHERD:  Then my next question is with respect to our Question 31.  And I don't actually know how we ended up with a (d), (e), (f) in the numbering.  It's quite interesting, but in (e), you have 240,000 in the test year for substation grid testing.  That's now going to be an ongoing annual cost?

MS. FLORES:  The amount of $240,000 includes other operational maintenance activities in addition to the substation ground grid testing.

MR. SHEPHERD:  Okay, but the substation ground grid testing is going to be an annual event, an annual cost, or is this a one-time cost to catch up?

MS. FLORES:  It's supposed to be done over the four years.

MR. SHEPHERD:  Okay.  And then in the next one, in number (f), you have increased bad debt expense of $329,000.  Do I understand correctly that's really sort of getting you up to what you would normally expect your bad debt level to be, or is this a special case?

MR. MARTIN:  No, it's -- I might have to take this as an undertaking, because I don't have the actual numbers in front of us.  But it is an increase from where we have been tracking, but not a significant increase.  We may have the historical numbers with us here.

And that seems to be proving out.  We did increase it, for example, for 2011 in our forecast principally because of rule changes to the various codes that really responded to lower income needs, et cetera, et cetera.

So, for example, there are additional restrictions on disconnecting customers who are in arrears.  There are payment plans that now have to be arranged for people that don't -- that aren't able to pay, et cetera, all of which will -- it's highly likely will impact our bad debts.

It may not affect the number of customers that become a bad debt, but it increases the amount of bad debt for each of those customers.  And that, in fact -- that is what is starting to occur in 2011.

MR. SHEPHERD:  So that entire 329,000 is as a result of the Distribution System Code amendments?

MR. MARTIN:  So the historical, in 2010, we had 485,000 of bad debts.  2012, the forecast is for 616.  So there is a $131,000 left, not 329.

MR. SHEPHERD:  No, but 2010 your base year is right after a serious recession that whacked your town pretty good.

MR. MARTIN:  But in 2011, we are tracking at an even higher number than 2010.  I am not -- I am not...

MR. SHEPHERD:  I understand.

MR. MARTIN:  It's -- it is tracking at higher amounts.  So we are expecting the base to be essentially the same, and the lift will come from essentially the arrears management programs, et cetera.

MR. SHEPHERD:  All right.  The last area I have questions on, and it's -- sorry, it's IFRS.  It starts with our questions 35 and 36, and so I am going to start with the useful lives to understand that part of it.

So if I understand correctly -- and I have seen your update and I am going to ask you a couple of questions about the explanations in the update, but if I understand this correctly, you went to the Kinectrics study and you simply took the lowest number in each case, the lowest useful life in each case?

MR. MARTIN:  Yes.

MR. SHEPHERD:  Okay.  So why?  Why did you do that?

MR. MARTIN:  The low end of the scale basically, in our opinion, was more in line with what we felt our estimated useful lives would be for the assets.  So, essentially that's why we picked the low end.

MR. SHEPHERD:  So it's just coincidence that their lowest number happened to be your best estimate?

MR. MARTIN:  No, we picked the low end because it lined up more with our replacement strategies going forward and our estimated useful life.  So we did pick those low ends.  So we took the position that we were going to pick the low, the medium or the high for purposes of the forecast or the application.

MR. SHEPHERD:  And you were intentionally being conservative; right?  I mean, when I see your explanations, one after the other says, We took a conservative approach.


MR. MARTIN:  Yes.

MR. SHEPHERD:  Okay.  All right.  So then in 36, you took the table -- from your Exhibit 10, you took tables 4 through 12 and you restated them using the typical lives instead of the minimum lives from Kinectrics.

And I first want to ask you:  You made some other changes to these tables, as well; right?  To these tables?  These are not a straight -- the difference between these tables and the tables in Exhibit 10 are not just the useful lives?

MR. SAVAGE:  That's correct.  I mean, we do note at the beginning of the response that it includes a strand of meters being removed, whereas in our previous submissions, they were in.

MR. MARTIN:  So it bridges -- so prior to doing the tables, we did the update, and the update had a fairly significant impact on our -- the carrying value of our assets, that, as David mentioned, principally because of stranded meters, but also because of the 500,000, for example, that came -- that essentially went to OM&A.

So we started from there, and then adjusted for purposes of the depreciation question.

MR. SHEPHERD:  So, then, I can't just compare these directly to the Exhibit 10 ones and see what the actual impact is of the useful lives, can I?

MR. MARTIN:  No.

MR. SHEPHERD:  Okay.  Well, that's what I was looking for.

MR. MARTIN:  You can compare this, though, to the tables that are -- we can provide the tables that support the update.

MR. SHEPHERD:  Oh, okay.  You haven't yet, right?  But you can?

MR. MARTIN:  We can.

MR. SHEPHERD:  Oh, wonderful.  That would be perfect.

MR. MARTIN:  Which probably would be more relevant.

MR. SHEPHERD:  That's better, yes.

MS. DJURDJEVIC:  We will make this Undertaking JT1.8.
UNDERTAKING NO. JT1.8:  TO PROVIDE TABLES 4 Through 12 CONSISTENT WITH THE UPDATE.

MR. SHEPHERD:  That's to provide tables 4 through 12 consistent with the update?

MR. MARTIN:  Yes.

MR. SHEPHERD:  Wonderful.

MR. SAVAGE:  Sorry, can we just clarify?  4 through 12, consistent with the undertaking?

MR. SHEPHERD:  No, with the update.

MR. MARTIN:  Yes, that's fine.

MR. SHEPHERD:  Wonderful.  Then my last question on this -- and then it sort of segues into the update, and I will take your guidance on whether I should continue -- is in your answer to this interrogatory, in this Technical Conference Question response, you give us a revenue requirement work form or revenue deficiency component of it that has a deficiency of $932,000, once you adjust for the -- using the typical lives rather than the minimum lives, right?

MR. SAVAGE:  Yes.

MR. SHEPHERD:  Now, that's -- this is an IFRS table? This calculation is entirely based on IFRS?

MR. SAVAGE:  That's right.

MR. SHEPHERD:  Then I am looking at your update, and page 7, which you were talking about with Mr. Aiken before, is a revenue requirement work form.  Or actually page 8, I guess, is the better one, because it's a direct comparable.

So you see page 8 of the update?

MR. SAVAGE:  Yes, we have got it.

MR. SHEPHERD:  So first of all, that page, this revenue deficiency determination, is that CGAAP or is that IFRS?

MR. SAVAGE:  It's IFRS.

MR. SHEPHERD:  So would I be right in saying, then, that that difference between 4,052,000 and 932,000 in the other one, that's the exact impact of the difference in useful lives on your deficiency?

MR. SAVAGE:  It's certainly the vast majority of it.  I have to -- I think when we do the analysis of the movement from the May 31st submitted revenue requirement form to where we are now, I think it will show that clearly.

MR. SHEPHERD:  But I guess what I am asking is this.

You have a revenue requirement work form that has $4,052,000 of deficiency; you have another one that has $932,000 of deficiency.  As far as I can see, if I understand this correctly, the only difference between the two is the useful lives; is that right?

MR. MARTIN:  Yes.  We will go with that.

MR. SHEPHERD:  Perfect.

MR. AIKEN:  Can I just jump in for a minute, Jay?

MR. SHEPHERD:  Sure, yes.

MR. AIKEN:  I am looking at the two schedules that you have been taking about, and I notice on the second line there is a 200-and-some-thousand-dollar difference in other operating revenue net.  The one in the update has 1.6 million, and the one in the response to the SEC Technical Conference Question has got 1.85 million.  So that's a 200-and-some-thousand-dollar difference.

Can you explain that?

MR. SAVAGE:  I think I can take that.

The deferral account that arises from the IFRS conversion, in the first instance, it's a debit, i.e., it's collectable from customers of about 1.4 million, because our rate base has gone down by 1.4 million.

So that 1.4 million is collectible.  Plus there's an allowed rate of return on that in the calculation, and that, in the first instance, is about $100,000.

For the purpose of getting all this to work in terms of -- the way to get that 100,000 into our revenue to be collected from customers, we adjust the revenue offsets line.  So if the original application had a number of 1.73 here, it went down by 1.6.

The second schedule, which is 200,000 higher, arises because the deferral account that arises from the conversion to MIFRS changes to a credit of approximately 1.6 million, and so instead of a return that -- so we have to pay that back to customers, because our rate base has gone up.  The return, or the negative return, if you like, in that case is, again, about 100,000.  And that -- the two combined explains the swing of 200,000.

MR. MARTIN:  Both sets of numbers are IFRS.  One is using the depreciation rates that we have applied for, and one is using the typical.

MR. SHEPHERD:  Understood.

MR. MARTIN:  Yes.

MR. SHEPHERD:  All right.  And, now, somewhere else -- I actually don't remember where it is, but somewhere else, you did a case of the impact –- oh, here it is.  I am sorry.  Page 12 of your update.

The impact of using your useful life rather than the Kinectrics typical useful life, and you got $1.8 million a year; do you see that?  It's page 12 of your MIFRS supplementary responses to Staff interrogatories?

MR. SAVAGE:  So the question is:  How does the 1.8 relate to the 3 million?  Was that it, or --


MR. SHEPHERD:  Well, no.  Actually, I know that the 1.8 and the 3 million are not comparable.

MR. SAVAGE:  Okay.

MR. SHEPHERD:  But you have a figure here of 2.7 million as depreciation for -- under "Useful Lives" in your response to our interrogatory, in our Technical Conference Question on the revenue requirement calculation that has the 932.  And on the one that has the 4-0-5-2, you have 5-2-9-8.  So that difference is about $2.6 million.  And you have estimated, in fact, 1.8 in this more detailed calculation.

MR. SAVAGE:  The 1.8 I think is comparing from the original, the CGAAP to MIFRS.

MR. SHEPHERD:  Oh, okay.  Well, then never mind.  And then -- now, I understand correctly, do I, that -- and stop me if I am asking too many questions on the update.

Should I stop at this point and let you ask your questions first, or do you want me to finish this?  They are all part of the same subject.  That is why I...

MR. BATTISTA:  You mean on IFRS?

MR. SHEPHERD:  Yes.

MS. O'CONNELL:  I think I wouldn't mind going ahead and asking some of my questions, if that's okay.

MR. SHEPHERD:  Okay, good.  Then I am done for a while.

MR. SIDLOFSKY:  Would it be possible to just take about five or ten minutes?

MS. DJURDJEVIC:  Or do we want to break for lunch?

MR. SHEPHERD:  A short one.

MS. DJURDJEVIC:  Why don't we do that?  Why am I asking that question?  Why don't I just tell you we need to break for lunch?  I think most people would appreciate having some lunch.  Why don't we come back at 1:30.  Okay, thanks.

--- Luncheon recess at 12:39 p.m.


--- On resuming at 1:34 p.m.

MS. DJURDJEVIC:  Let's resume.  Welcome back, everyone.  We had, just before the lunch break, left off with –- Board Staff was just about to start with its questions, so let's continue with that.

MR. CLARK:  I only had one, and it's more of a conceptual discussion, I think, than actually a question.  And it has to do with remaining life depreciation, straight-line remaining life.

What I was getting at in my interrogatories was that the concept of depreciation, particularly under IFRS, is to recognize your asset groups, looking at them from an actuarial perspective so that you have a rate in place that will collect your investments over the remaining life of that group.

And your formula that you provided showed an index to reduce the remaining life by one year each year, but it doesn't show for a correction for adding new plant that have, to begin with, average life.  Maybe five years down the road, a transformer may -- well, when you get down to maybe 50 years of life, you could have another 10 years left in that transformer.  It's just like human beings; the longer you live, the longer is your expected life.

And I couldn't see any reflection in your formula, and I guess my one question is:  Had you thought about that?

MR. MARTIN:  We understand the philosophy and we did take it into consideration.

My experience with IFRS is in the early transition, in the early years of transition, especially with respect to fixed assets, you have to -- you have to start to formulate what those estimated lives are going to be, and it doesn't necessarily revolve around when it fails.  There is a bunch of strategies that come into play.

With respect to our fixed assets, it takes into account -- may take into account replacement strategies, technological obsolescence, the physical estimated useful life comes into play, so there are a lot of things that come into play.

What has happened with IFRS is fixed assets and tangibles and things of that nature tend to go up and down over the first four, five, six years, trying to accommodate that philosophy, because historically under CGAAP, the philosophy has been to pick a period of time to depreciate it, run it down to zero and then use the asset for however long it kicks around.

So we have considered it, but we are sitting here today looking ahead under IFRS, and no matter what useful lives we estimate, it's going to change.  We are not going to nail it out of the gate.

So at this point in time, we have picked depreciation lives, based on our best estimates based on what we believe to be the useful life of these assets based on a bunch of things, not simply how long that asset may, in fact, live or survive before it fails.

So we do understand the concept; we did take it into account.  And we are prepared to respond to valuation changes as they occur, based on what actually transpires over the next few years.

Given that, the regulatory backdrop currently as it stands, it's carved up into four-year periods, and I am not sure that the impact of changing valuations for fixed assets is going to be that dramatic in those four-year periods.  In other words, for a new asset -- a transformer, for example -- we are not going to know for 15 years exactly what may, in fact, transpire with that transformer.

So I am rambling on, but we do understand the concept, we did take it into account, and we are prepared to kind of deal with the fluctuations that will occur under the IFRS platform.

MR. CLARK:  One more item on establishing the rate to be applied.

Depreciation is applied to the gross assets, and so when you set your rate when you are looking at the remaining life, you have to also consider what your accumulated depreciation is.

So have you -- when you chose to choose the minimum with Kinectrics, did you consider whether you had completely depreciated asset groups?  Or maybe even over-collected?  I don't think that's possible.

But you are going to be somewhere between not having collected anything and having collected everything, and that goes into the rate, as well; did you make that consideration?

MR. SAVAGE:  I believe we have taken it into account.

Bear in mind that in calculating it, we didn't do it at a group level; we did it an individual component level, and components themselves at an individual level.

So for every item that we have assigned a remaining life to, we know when it was purchased, we know how much accumulated depreciation has accrued to date.

So does that answer the question?

MR. CLARK:  I understand you saying that you actually looked at every breaker and every transformer and accumulated kilometre of cable put in a year, and you looked at its age as of whenever you made this assessment now in 2011, and estimated remaining life for each and every one, each and every investment?

MR. SAVAGE:  Yes.

MR. CLARK:  So if breakers typically last 30 years, and you had a breaker that was 15 years old, would you assign a remaining life of 15?

MR. SAVAGE:  If 30 was the life that we gave it under IFRS, yes, we would give it 15.

MR. CLARK:  And if it was 30 years old and you knew you weren't going to replace it for another five years?

MR. SAVAGE:  We can't say that for every single component.  It's just not physically possible to -- like, for example, if you have got something 30 years old and it's still in service, it's not always possible for us to tell.  A kilometre of cable, you mentioned earlier.

So we have done it mathematically.  So I guess to answer the question, if it's 30 years old, and we -- that component now has a life of 30 years, that's it.  It's written off completely.

We can't -- we don't have the detailed knowledge by individual component to know that it's got another five years' life.

MR. MARTIN:  I guess on that same point -- and this is really a question for you -- if there are -- we may have the assets -- I am sure the desk I sit at is 60 years old.  I am sure it's been depreciated 40 years ago.

So under your premise, are you suggesting we should be setting those up again as assets going forward?

MR. CLARK:  No, because you have written that off.

However, we are talking about a forecast test year.  In the test year, there may be something that you know you won't be retiring for another five years.

And so did you, when you considered remaining life, take that into consideration?

MR. MARTIN:  No.

MR. SHEPHERD:  Can I ask a follow-up question?

You have assets as of January 1st, 2011 that are fully depreciated, that you are still using, like your desk, right?  That value in your books is treated as zero, right?

MR. MARTIN:  Yes.

MR. SHEPHERD:  And it would be treated as zero even if –- well, let me give you the alternative example.

You have something that's not zero yet, but you have reduced the useful life from 20 to 15.  It's 15 years old.  You are taking it down to zero right now, right?  Even though it's still in use?

MR. MARTIN:  Yes.

MR. SHEPHERD:  But you know that it's going to last longer than 15, because it's still in service and it's already up?

MR. MARTIN:  Yes.  There are likely assets like that, yes.

MR. SHEPHERD:  So I understood that under IFRS, you are supposed to estimate the remaining useful life of an asset, so I don't understand how you can estimate the useful life as zero when it's still in service.

MR. MARTIN:  On the transition, there is a margin of error.  We did not do a physical inventory of our fixed assets.  Essentially, what we have applied, the way we have done our calculation, as David mentioned, it is a mathematical exercise.  We have chosen depreciation rates.  We have applied those rates to the existing base of assets, and in some cases that could create a value of zero for an asset that's still in service.

Now, similarly -- sorry, go ahead.

MR. SHEPHERD:  I thought you said that you started with the vintages; right?  You took a vintage breakdown for any given component, poles, let's say; right?  So you have a certain number of poles that have a vintage older than your new useful life.  Those are all being treated as zero, even though they are still in the ground?

MR. MARTIN:  Okay.  I don't want to suggest our poles are in that.  There will be assets -- given the process that we used to get to the opening book value understood IFRS, there will be assets that, in fact, have been written down to zero because of the depreciation rates applied.

So new assets that we're acquiring, we expect that those will last based on the estimated life we have chosen.  So, conceptually, there shouldn't be assets that are in service that exceed the useful life that we have chosen.

The reality is, though, that there will be.  I would assume, as well, that we would have a similar situation, given the way that fixed assets were accounted for historically, which is based on groups of assets.

As a result of doing assets by groupings, there may be assets, in fact, that aren't existing anymore, but there is a value on the books for those if you haven't disposed of them correctly.

MR. SHEPHERD:  Well, but if you use the pooling method, that fact is irrelevant, right, because you are depreciating the pool, not the asset?

MR. MARTIN:  Right.  But the reality is, when you start to identify physical assets, then you do have that type of an error that comes into play.  So the quick answer is, yes, there may be assets that we are -- that are still in service that we have written down to zero, but we don't believe that it's significant.  But it's possible, given the approach that we took.

MR. SHEPHERD:  Can I ask just one more follow-up?  You have chosen five years for smart meters.  I will use the smart meter example.  So you have put in smart meters -- let's say you put in a smart meter today.  Let's say you put them all in today.

You are going to assume that you are going to fully depreciate them over five years.  Five years from now, they are still going strong, but you have nothing left.  That means that you can't adjust the depreciation?

MR. MARTIN:  You would.

MR. SHEPHERD:  How can you adjust it if you have already depreciated it all?

MR. MARTIN:  Under IFRS you would.  We are talking about a transition to IFRS and essentially your opening book value, your opening book value for IFRS purposes.

Under CGAAP you wouldn't adjust your depreciation.

MR. SHEPHERD:  You would just treat it as fully depreciated?

MR. MARTIN:  You treat it as fully depreciated.  The only thing you can do under CGAAP is write an asset down.  You can't write it up.

Under IFRS, you can write it up.  So, effectively, you can increase or lower your accumulated depreciation, and, in fact, credit depreciation expense.  There is that facility under IFRS.

MR. SHEPHERD:  Thanks.

MS. O'CONNELL:  If I can interject, the Board clearly said in its Board report of July 2009 that historical cost basis is to be used.  There is to be no revaluation.

So maybe perhaps for IFRS purposes, for financial reporting purposes, you can use this revaluation, but the Board's intent is historical costs is historical cost.  The regulatory gross capital cost as at December 31, 2010, and accumulated depreciation as at December 31st, 2010, becomes the gross capital cost as at January 1, 2011 and accumulated depreciation as at January 1, 2011.  It flows through.  There should be no revaluation adjustments or anything of that nature.

MR. MARTIN:  On transition?

MS. O'CONNELL:  On transition or going forward.

MR. MARTIN:  Okay.  So this is for my clarity, but -- so in the event that in Jay's situation there, under that scenario, for regulatory purposes, if we have written it down to zero, it's zero permanently.

MS. O'CONNELL:  Right.  That's what the APH currently says, that the assets -- article 4.10, I believe.  We haven't finished updating the APH yet for MIFRS, but, under CGAAP, assets that are fully depreciated stay on the books, as long as they are fully in service.  So they could have a zero net book value, but they still stay on the books.

MR. MARTIN:  That's under CGAAP.

MS. O'CONNELL:  That's under CGAAP, correct.

MR. MARTIN:  But we still transitioning to IFRS.

MS. O'CONNELL:  Transitioning to IFRS, it would still be the historical cost concept, so that would flow through.

MR. SHEPHERD:  The Board has made clear in its report that you can't revalue upward.  So that leads know a follow-up question -- thank you  -- which is:  When you were setting your useful lives, was the fact that you may be resetting them later and so you will be able to sort of adjust to get to the right number?  Was that a factor in using the shorter lives?

MR. MARTIN:  No, it wasn't a factor in coming up with the short lives.  But, now, I am probably getting myself -- and I should let the accountant in the room answer the question, but my experience with IFRS is that, yes, you do get to reset the bar when and if new information becomes available to itself.

I have to admit I wasn't aware of the fact that under modified IFRS for regulatory purposes, you draw the line in the sand and you go forward.  But that wasn't the basis for why we picked the shorter lives.

MR. SHEPHERD:  Thanks.

MR. CLARK:  That was it.  As I said, it was just one simple question.

MR. BATTISTA:  I am referring to question 9 in the Board staff tech conference answers, and it's page 19 to 22.  And it has to do with smart meter and smart meter costing.  I guess there has been accounting guidance with respect to calculation of interest on some of the accounts that record smart meter costs.

I believe it may be the case that in all instances the guidance hasn't been followed, and the point of my question and follow-up is to make sure that at least in this proceeding, and I believe it's going to be happening in other proceedings, that that guidance is made plain and followed.

And it has to do with the interest calculation on the disposal rider and the funding adder revenue calculation.  So in that regard, I have sort of a handout of the questions, and we can review them after I hand them out.

MS. DJURDJEVIC:  Let's make this an exhibit.  This will be KT1.1.  The title is "Smart Meter Model IRs Board Staff".
EXHIBIT NO. KT1.1:  Handout entitled "Smart Meter Model IRs Board Staff".

MR. SHEPHERD:  I wonder if you can give us the reference again to the question you are following up on?

MR. BATTISTA:  It is reference 11, page 19 to 22.

MR. SHEPHERD:  I am looking for the interest reference.

MR. BATTISTA:  Sorry, it's buried in these numbers.

MR. SHEPHERD:  Oh, okay.

MR. BATTISTA:  It's sort of indirectly related.  What it has to do with is there is a smart meter model that's used to generate the riders and the rate adders and the disposition of the rate adders, and we were trying to ensure that when it comes to the calculation of carrying costs on the OM&A and amortization, that simple interest expense is used, rather than a compounding.

As well, that the -- with respect to the adder revenues, that simple interest is used in that calculation.  So it's interest -- interest should be applied to the OM&A and amortization for the rate rider calculation; and for the adder calculation, it should only be simple interest.

And then when it comes to the disposition of the amounts, there should be a tie-in to certain cost allocation aspects and drivers, and they are laid out in section 2 of the question.

If you need more background on this, Board Staff is available.  Just give us a call next week.  And because the models are locked, obviously, so we would have to unlock the models.  And if you have a difficulty in interpreting some of the finer aspects of this, we would be more than happy to help.

MR. SAVAGE:  Okay.

MR. BATTISTA:  So do I have your undertaking to the best of your ability to respond to these two undertakings, or a single undertaking with the two parts?

MR. MARTIN:  We can't just hand it over to you guys?

MR. BATTISTA:  No, that's the phone call.

MS. DJURDJEVIC:  So that will be Undertaking JT1.9, and it's to provide responses to Board Staff questions set out in KT1.1.
UNDERTAKING NO. JT1.9:  TO PROVIDE RESPONSE TO BOARD STAFF QUESTIONS SET OUT IN KT1.1.

MS. O'CONNELL:  I think what I will do now is just go through my follow-up questions regarding the Board Staff Technical Conference Questions, and then I will proceed to the MIFRS questions. If you go to Board Staff Technical Conference Question 9, on page 13 and 15 there are updated PILs calculations.  I notice that the CCA is different on the MIFRS table and the CGAAP table.  I understand that for tax purposes the CCA doesn't change under MIFRS.

Can you explain why there is a difference between these two tables for CCA?

MR. SAVAGE:  Sorry, Fiona, I was just trying to catch up, keep up with you there, but...

MS. O'CONNELL:  That's okay.  On page 13 and page 15 there are different CCA numbers.  I assume page 13 is MIFRS and page 15 is CGAAP.

MR. SAVAGE:  That's correct.  So table 36 is CGAAP revised.

MS. O'CONNELL:  Yes –- MIFRS revised, right?

MR. SAVAGE:  No.  Table 36 is CGAAP.

MS. O'CONNELL:  What's on page 13?

MR. SAVAGE:  Oh, I got you.  Yes, sorry.

Page 13 is MIFRS; page 15 is CGAAP.

MS. O'CONNELL:  Correct.  So my question is:  Why do the CCA numbers differ across the tables for bridge and test?

MR. SAVAGE:  Well, test would certainly change because of -- under CGAAP, that 500,000 in OM&A would be included in additions, so that would be one factor behind the change.

And the bridge year, I'd have to get back to you on the reason for that difference.

MS. O'CONNELL:  Okay.

MS. DJURDJEVIC:  So we make that Undertaking JT1.10.
UNDERTAKING NO. JT1.10:  TO EXPLAIN DIFFERING CCA NUMBERS FOR BRIDGE YEAR.

MR. SHEPHERD:  I wonder if I can just ask that –- for the table 36 on page 13, there is actually supporting continuity schedules on page 14, but for table 36 on page 15, there is no -- I don't see any CCA continuity schedules.

Could we have those?  Then we would be able to see what the differences are.

MR. SAVAGE:  Okay.

MS. DJURDJEVIC:  That's JT1.11, and can you just give a brief summary of that on the record?

MR. SHEPHERD:  Yes, the equivalent to tables 37 and 39 for the table 36 on page 15.

MS. DJURDJEVIC:  Thank you.
UNDERTAKING NO. JT1.11:  PROVIDE EQUIVALENT OF TABLES 37 AND 39 FOR TABLE 36 ON PAGE 15.

MS. O'CONNELL:  And I have other comments as to the rate base that's used for 2011 under MIFRS and the amortization for 2011 and 2012, but I will leave that to my MIFRS questions, and then we can come back to this table.

If you can turn to question 11 of the Tech Conference questions, and then page 19, I submitted two new exhibits.  One is the OPUCN RRR 2.113; that's a new exhibit.  This one.

And RRR 2.113 is that:

"A distributor shall provide in the form and manner required by the Board annually by April 30th the uniform system of account balances mapped and reconciled to the audited financial statements."

MS. DJURDJEVIC:  We will make this Exhibit KT --


MR. SHEPHERD:  Your mic isn't on.

MS. DJURDJEVIC:  So that will be Exhibit KT1.2.
EXHIBIT NO. KT1.2:  OPUCN rrr 2.113.

MS. O'CONNELL:  And then I have another exhibit, which is this one.

MR. SIDLOFSKY:  Ljuba, excuse me, that KT1.12?


MS. DJURDJEVIC:  Sorry, KT1.12.  That's the second.


MR. SIDLOFSKY:  I am sorry, exhibits --


MS. DJURDJEVIC:  Exhibits in the tech conference.  That's okay.

MS. O'CONNELL:  The second exhibit is year-end financial reporting versus regulatory reporting, account 1555 and 1556.

MS. DJURDJEVIC:  That will be KT1.3.
EXHIBIT NO. KT1.3:  COMPARISON OF YEAR-END FINANCIAL REPORTING WITH REGULATORY REPORTING, ACCOUNTS 1555 AND 1556.

MS. O'CONNELL:  So basically what I did was I looked at your reconciliation between your audited financial statements, which on the first exhibit is under the first column here, and the trial balance, which is in the second column.

And I notice that there are some differences between RRR and audited financial statements.  The reason why I looked at this was because of Question 11, when you stated that you recognized smart meter revenue in your audited financial statements.  This, I interpret to be journal entries that you do in your GL to recognize smart meter funding money, OM&A expenses, depreciation expenses for financial reporting purposes, that may not have been approved by the Board in a Board decision.

So in the RRR, it would stay in 1555 and 1556 because it hasn't been approved by the Board yet to be transferred to the revenue and expense accounts.  And in the audited financial statements, you would recognize it for financial reporting purposes.

So you will notice that -- so my journal entries here, this is what I -- the first set of journal entries is what I assume that you did in the GL at year-end to recognize the smart meter funding money and OM&A and depreciation expenses in the GL.  So you debited unbilled revenue accounts receivable for 563,000.  You credited distribution revenue for 563,000.  You debited OM&A expense for 77,000, debited depreciation expense for 184,000, and credited accrued liabilities, 261,000.

And then what I interpreted you as doing was making top-level spreadsheet adjustments to these GL numbers to align the GL numbers with what's required for regulatory reporting.  And if you look at the first exhibit at unbilled revenue, unbilled revenue is 11-9-2-8 on the audited financial statement on the RRR regulatory reporting, and on the audited financial statements it's 12-4-9-1.

So for RRR reporting, it's a decrease of 563,000.  If you go to the statement of income and retained earnings, you will notice that the RRR -- sale of electrical energy is lower by 564,000.  So what I interpreted you as doing is basically debiting distribution revenue and crediting unbilled AR for this top-level adjustment to reconcile to RRR reporting.

And what I thought perhaps you should have done was debited distribution revenue and credited account 1555, because that 563,000 should not have been recognized for regulatory purposes and should have been reversed out of distribution revenue.

Is that example of my journal entries correct for revenue?

MR. SAVAGE:  For revenue, yes, that's correct, what we have done.  What we deliberately avoided doing was touching the regulatory accounts in any way, so we didn't think it was appropriate, for example, to adjust the balances in 1555, or whatever, 1555 being the smart meters.

MS. O'CONNELL:  The capital recoveries.

MR. SAVAGE:  Yes, we tried to keep it separate.

MS. O'CONNELL:  So you agree that the credit should have gone to account 1555 of 563,000 instead of to unbilled revenue AR?

MR. SAVAGE:  No.

MR. MARTIN:  We are making -- you are looking at it conceptually differently.  You are looking at it from the perspective of the audited financial statements adjusting back to the RRRs.  It's the other way around.  Essentially we start with the RRRs.  So we start with the regulatory account, regulatory financial statements.  So for regulatory purposes that works.

Now, we are sitting in front of -- now we are having to comply with CGAAP, and under CGAAP we had -- in our opinion and in our auditors’ opinion, we had an unrecorded revenue of 563,000, along with some unrecorded depreciation expenses, et cetera, which we choose to simply accrue for accounting purposes.

So we didn't think it was appropriate, and nor do I think it's appropriate now, to adjust the 1555 account.  The 1555 account is a regulatory account that is just that.  It's we simply made an estimate.

Now, having said all of that, it's -- are we concerned about our audited financial statements here or...

MS. O'CONNELL:  I am concerned about the RRR, because essentially there is a discrepancy between the amount of regulatory distribution revenue and audited financial statement distribution revenue, and that, I believe, the difference is put into unbilled revenue accounts receivable instead of keeping it as a credit in account 1555.

MR. MARTIN:  And we made the decision that it was best to be considered an unbilled amount and accrued there.  Our auditors agreed with us.

MS. O'CONNELL:  But don't you agree that this is seed money that should be captured in account 1555 and not recognize the distribution revenue, because it hasn't been approved by the Board?

MR. MARTIN:  No, I don't agree.  Because it hasn't been approved by the Board, we are making an estimate.  We are estimating that there are unrecorded revenues in the books that relate to future recoveries.  We are simply making an estimated accrual.

If we adjusted the 1555 account, implicitly in that is we are basically saying that the Board has in fact given us that money back or allowed us to recover it, and that's not the case.

MS. O'CONNELL:  Okay.  That 563,000, that's seed money that you've collected through a smart meter funding adder?

MR. MARTIN:  No, that's not the premise behind the accrual.

MS. O'CONNELL:  What is it, then?

MR. MARTIN:  The premise behind the accrual was that there were revenues that would otherwise haven be earned, if not for the regulatory context of funding, that should have been recorded in the accounting statements.  And to that end, we choose to book it as an accrual and not impact the 1555 account, which suggests cash.

MS. O'CONNELL:  But wouldn't that 1555 -- that assumption that you are making on that revenue, recognizing for audited financial statement purposes that distribution revenue, isn't the underlying premise that it's a smart meter funding adder?

MR. MARTIN:  I don't agree.

MR. SAVAGE:  No.

MR. MARTIN:  If you look at an accrual for payroll purposes, you don't adjust your accounts payable.  You adjust your accrual account.  We are estimating an expense.  In this case, we are estimating a revenue amount.  You don't book an adjustment to your trade payable account simply because it implies that you are going to pay a supplier in the future.

You don't reduce the trade.  You make an accrual to another account.  You leave the accounts intact.

MS. O'CONNELL:  So this accrual to increase distribution revenue by 563,000, what does that represent?

MR. MARTIN:  I guess, in short, we don't agree with your position, no.  We believe, and our accountants -- our auditors agree that the appropriate accounting was made for purposes of financial reporting.  Your concern should be the RRR report.  The RRR report --


MS. O'CONNELL:  That is my concern.

MR. MARTIN:  The RRR report is in fact correct, is it not?

MS. O'CONNELL:  I guess I am a bit perplexed --


MR. MARTIN:  The RRR report is fine.  I think we can all agree on that.  I am not sure why you are so concerned about how we accounted for an accrual that was represented in our audited financial statements that had no impact on the regulatory, the RRR report.

MS. O'CONNELL:  Okay.  So say you get $500,000 or -- I just want to give you an example.

MR. MARTIN:  We are arguing accounting.  You should have this discussion with our auditors, with Ernst and Young.  That is what I suggest you do, if you have a problem with where they agreed to put that accrual.

I don't see -- it's a classification.  I don't see the point of it.  I don't see the point of your argument.

MS. O'CONNELL:  The point is it impacts your smart meter funding adder.

MR. MARTIN:  No, it doesn't.

MS. O'CONNELL:  Yes, it does.

MR. MARTIN:  What's the smart meter funding adder balance?  We are going to reverse -- this entry was reversed in the following year.  It's simply for reporting purposes.  We booked it at the end of the year.  We reversed it this year.  We are now accruing again to a point where -- and at some point, the right amounts will clear through the 1555 and 1556 account, at which time we will clear the accruals.

MS. O'CONNELL:  So this 563,000 debit to unbilled revenue AR and credited to distribution revenue, that does not represent any underlying funding adder, seed money collected from customers?  It's just some arbitrary accrual that's made in your audited financial statements to represent distribution revenue?

MR. MARTIN:  No, it's not arbitration.  It's the revenue associated with the rate base that is otherwise --


MS. O'CONNELL:  Okay.  You are clarifying it now for me.

MR. MARTIN:  Well, it's not a cash-based transaction.  It's based on the regulatory revenue that would have been earned in that time frame had we disposed of the 1555 account.  It doesn't have anything to do with seed money or cash received, or anything else.  It's simply we earned revenue in the year associated with our investment in smart meters.

Under regulatory accounting, that's not recognizable.  It gets parked in the 1555 account.  For financial statement purposes, we choose to recognize it because what we didn't want to do is have no revenue in 2010, zero revenue again in 2011, and then potentially have a $2 million revenue number one time rolling through the income statement.

That's fine for regulatory purposes, but it's not -- we didn't think that was a fair representation for external financial reporting.

MS. O'CONNELL:  But when you say that eventually the $2 million will roll into the audited financial statements, what does that $2 million represent?


MR. MARTIN:  Let me cut to the chase.  What do you want us to do?  Do you want us to restate our audited financial statements?


MS. O'CONNELL:  I am not asking you to restate your audited financial statements.


MR. MARTIN:  Then what's the point of the conversation?


MS. O'CONNELL:  The point is that I am concerned that seed money funding adder dollars collected or accrued to be received from customers is recorded as distribution revenue.  But you are clarifying, saying it's not that -- that money is actually recorded as a credit to 1555, and this is an extra adjustment made to distribution revenue in that it's an a proxy for the revenue requirement impact of the amounts in 1555 that represent the rate base items.


MR. MARTIN:  Sure.  That's what it is.


MS. O'CONNELL:  So it's an extra accrual that you are making?


MR. MARTIN:  It's an accrual.  That is how I characterized it from the start, yes.

MS. O'CONNELL:  Okay.  I guess as long as there is no -- I guess my questioning led, this line of questioning led to what other LDCs are doing, and I guess you are doing it differently, so -- and I am not one to opine on your audited financial statements, so I will cease my line of questioning.


MR. MARTIN:  Thank you.

MS. O'CONNELL:  Okay.  My next question is regarding Board Staff Technical Conference Question No. 13; that's regarding 1562.


My question, your answer was that -- basically that you used your billing provider to recreate the data from market open, and that you used this data as the billing determinants in the PILs revenues working -- and is confident that is correct.


I guess I am still wondering why some of your volumes may have been quite variable.  For example, if you call up that 1562 spreadsheet that was sent with the technical conference questions, do you have that spreadsheet there?


It's the PILs 1562 continuity schedule.  It was sent as an attachment with our technical conference questions.

MR. SAVAGE:  Sorry, Fiona.  Go ahead.


MS. O'CONNELL:  Okay.  I guess I -- we were just wondering the -- the billing provider, the consistency of the numbers.  Because if you look at the August 2002 PILs revenue, it's 140,277, and when you compare it to other August months, it seems kind of low.


MR. SAVAGE:  Which table are you looking at?


MS. O'CONNELL:  It's called the:  "Oshawa PUC Networks Inc. 1562 Deferred PILS Continuity Schedule."


It's essentially the schedule that supports the balance that you are asking to recover.  It goes by year, the PILs proxy, PILs revenue true-up items, monthly variance, cumulative variance.


MR. SAVAGE:  We don't have the spreadsheet here.


MS. O'CONNELL:  You don't have it?  Okay.


I guess my question is:  The August 2002 PILs revenue is 140,000, whereas compared to other August months in other years, it's well into the 200s -- 216, 230,000, et cetera.


So my question is:  Are these numbers -- can they be relied upon?


MR. SAVAGE:  Yes.  We believe they can.


One thing to bear in mind is back in 2002, we had instances where most of the billing, our billing was done over a two-month period.  So you wouldn't have billing done in July, then another set in August.  August would have included some of July.


And I will expand.  We will look at it closer, and I will get back to you, but that was definitely a factor in our billing back in the early years, where we didn't -- if we have 30 billing cycles a month that cover all our customers, we weren't billing all 30 every month.  There might be some months where there were 20 cycles.  The following month might catch them up.


MS. O'CONNELL:  Okay.  Could I have an undertaking to look at the underlying billing determinants?


MR. SAVAGE:  To the extent that we are confident that they are correct.  Because the data we had in-house raised some questions for us, we went out and got our billing provider to redo them, to run fresh queries, so we had a complete set.


So in that sense, I am not sure what more we can do to say that they are right, or to investigate them.


We do know that, as I just explained, the billing amounts weren't always uniform from month to month, because of just what I said.  In some months, we wouldn't have captured all the billing cycles.


It's something that was more prevalent years ago; it's not the case now.  So I mean, we are happy to take an undertaking, but I'd need it to be something that I think we can do something about.


MS. O'CONNELL:  I think that's okay.  I think basically you are saying that the 2002 is more of an anomaly due to the way the billing was done back in 2002?


MR. SAVAGE:  Yes.


MS. O'CONNELL:  And you are confident that the billing determinants used are accurate, even though it's gone -- it's been a number of years since the actual kilowatt-hours have flowed?


MR. SAVAGE:  Yes, yes.


MS. O'CONNELL:  Okay.  I will move to the IFRS questions.  I will start with Question No. 12.  That's the pension question.

Does everyone have a copy of the 2009 and 2010 audited financial statements?  If not, I can give you a photocopy.  Does anyone not have a copy?


MR. MARTIN:  Fiona, are you referring to the technical --


MS. O'CONNELL:  OPUCN audited financial statements.


MR. MARTIN:  No, in terms of your reference to Question 12, are you --


MS. O'CONNELL:  The other post-employment benefits -- sorry, the IFRS questions?


MR. MARTIN:  Yes.


MS. O'CONNELL:  This is a new exhibit, sorry.  Pardon me, this is a new exhibit.


MR. MARTIN:  So you are referring to the handout then?


MS. O'CONNELL:  Yes.


MS. DJURDJEVIC:  So this is Exhibit KT1.4, and it's titled "Oshawa EB-2011-0073 MIFRS".

EXHIBIT NO. KT1.4:  BOARD HANDOUT TITLED "OSHAWA EB-2011-0073 MIFRS"

MS. O'CONNELL:  So if we could go to Question 12, other post-employment benefits, it references Board Staff Interrogatory 70, where essentially OPUCN is requesting recovery of approximately $2.6 million of unamortized actuarial losses as a result of the election to IFRS 1 to charge this amount to retained earnings and recognize it on the date of transition, January 1, 2011.


So if you go to the 2009 audited financial statements, page 18, note 10?


MR. MARTIN:  So, Fiona, can I just clarify something?


MS. O'CONNELL:  Yes.


MR. MARTIN:  We have asked for a deferral account.  We have not asked for recovery.  We do not have it included in our recovery rates.


MS. O'CONNELL:  That was one of my questions.


MR. MARTIN:  Okay.


MS. O'CONNELL:  Why it is not in the rate design.


MR. MARTIN:  Right now we are essentially asking to park it in a deferral account, but there is no recovery applied for.


MS. O'CONNELL:  So you are proposing to recover it at some point in the future?


MR. MARTIN:  Yes.


MS. O'CONNELL:  Okay.  Does everyone have the December 2009 audited financial statements?


MR. SAVAGE:  No.


MS. O'CONNELL:  Okay, I will hand them out.  The December 2009 audited financial statements are found on Exhibit 1, page 180, and the December 2010 audited financial statements are found on Exhibit 1, page 214.


So if you go to page 18 of the audited financial statements, note 10, you will see that the discount rate applied to the calculation of future benefits increased from 2008 to 2009, 6.25 percent in 2009.


If you go to the December 31, 2010 audited financial statements, note 8 on page 15, you will notice that there is no change in the discount rate.  It remains at 6.25.


So my question is is that:  Wouldn't there have been an actuarial gain accrued in 2009 due to the increase in the discount rate, and in 2010, because there is no change in the discount rate, there would be no actuarial loss incurred, because interest rates remained the same?


MR. MARTIN:  Fiona, we will take this as an undertaking.


MS. O'CONNELL:  Okay.


MR. MARTIN:  We essentially had a valuation done which is included in the package.


MS. O'CONNELL:  Yes.


MR. MARTIN:  And, essentially, the valuation was done as at the end of 2008 and as at 2009.  So our financial statements are essentially based on the financial report, but it's probably best to take it as an undertaking, and then we can articulate it better.


MS. O'CONNELL:  Okay.  I guess, generally, if you are looking to recover an unamortized actuarial loss as at January 1, 2011, the date of transition, it may be beneficial to get an actuarial valuation as at that date, just as a word of input there.  That's what we have seen other LDCs doing.


MS. DJURDJEVIC:  Can we make this undertaking JT1.12 and, Fiona, if you can restate it?


MS. O'CONNELL:  So the undertaking is to investigate the amount of $2.6 million of unamortized actuarial losses that OPUCN is proposing to recover in a deferral account at a later date considering the audited financial statements as at December 31, 2010 don't show a change in the discount rate.

UNDERTAKING NO. JT1.12:  TO INVESTIGATE AMOUNT OF $2.6 MILLION OF UNAMORTIZED ACTUARIAL LOSSES THAT OPUCN IS PROPOSING TO RECOVER IN A DEFERRAL ACCOUNT AT A LATER DATE, CONSIDERING THE AUDITED FINANCIAL STATEMENTS AS AT DECEMBER 31, 2010 SHOW NO CHANGE IN THE DISCOUNT RATE.

MS. DJURDJEVIC:  Thank you.


MR. SHEPHERD:  Can I ask a follow-up question on that?  I had understood that the $2.6 million actuarial loss happened because of IFRS.  It was a revaluation at the time you went to IFRS.  That's not the case?


MR. MARTIN:  No.  The unamortized loss is there as a result of the valuation.  Under IFRS, the change there is under CGAAP that unamortized loss gets recognized over what's called a corridor approach, but it gets recognized over 20 years.


Under IFRS, there is still a discussion going around the corridor approach, but essentially under IFRS it's supposed to be recognized.  So that gain or loss each year would get recognized one way or another.


So we are making -- we are suggesting that we make an election.  So if it was a non-regulated entity, what you would typically do is you would take an election to take that unamortized loss, record it into retained earnings and get rid of it, so essentially recognize it.


For regulatory purposes, for obvious reasons, we don't want to just write it off through the retained earnings.  We want to set it up as a regulatory account to be recovered sometime in the future.


The reality is, based on future valuations, that number, that could -- the next time we do a valuation, that number could become a gain.


So essentially each time you do a valuation, that number is going to go up and down.  So, quite frankly, the reality is we likely will never apply to recover it, because it's essentially going to -- we may in fact clear it through the next valuation, is what we might end up doing.


But it's a non-cash item.  It's based on valuations.  Under IFRS it's supposed to be recognized.  So it is a result of IFRS, but it's not -- the amount isn't created as a result of IFRS.


MR. SHEPHERD:  I thought you were applying to recover it?


MR. MARTIN:  No, we are applying to put it in a deferral account as opposed to writing it off through retained earnings, but we have not considered it as part of the recovery.


MR. SHEPHERD:  Thank you.


MR. MARTIN:  Sorry, Fiona, what is the undertaking, to get a valuation or...


MS. O'CONNELL:  The undertaking is essentially if you are seeking recovery, and in your response to your IR supplemental question 70(b), you state -- okay.


MR. MARTIN:  On the basis that we are not asking for a recovery --


MS. O'CONNELL:  It says OPUCN is proposing to dispose of the deferral account over a period of four years.


MR. MARTIN:  Oh, sorry.  In our updates, we aren't.  We have only asked to set it up as a deferral account.  So we are not -- we are taking away the request to recover the amount.


MS. O'CONNELL:  Okay.  But you may possibly want to park it in a deferral account for future recovery?


MR. MARTIN:  That's correct.


MS. O'CONNELL:  I guess my undertaking is -- once again, is to try to understand whether there really is truly $2.6 million of unamortized actuarial losses as at January 1, 2011, and if you do believe that that does exist, then an underlying actuarial valuation report to support that number.


MR. MARTIN:  Okay.  So the timing of that, though, would be December 31st, 2011.


MS. O'CONNELL:  January 1st, 2011, the date of transition?


MR. MARTIN:  Oh, sorry.  Okay.


MS. O'CONNELL:  Yes.


MS. DJURDJEVIC:  So that will be Undertaking JT1.13.

UNDERTAKING NO. JT1.13:  to CONFIRM WHETHER THERE IS $2.6 MILLION OF UNAMORTIZED ACTUARIAL LOSSES AS AT JANUARY 1, 2011, AND IF SO, TO PROVIDE UNDERLYING ACTUARIAL VALUATION REPORT TO SUPPORT THAT NUMBER.


MR. SHEPHERD:  Just let me follow up, then.


The deferral account that you are proposing to put this $2.6 million into, you are proposing to use it each year for the new revaluation?  Just go up and down each year?


MR. MARTIN:  To be honest, we haven't thought it through that far.  We just parked it in the deferral account, because under accounting, we are expected to run it through the retained earnings.  We are just trying to keep it out of the retained earnings.


MR. SHEPHERD:  So you want to put it in as a regulatory asset, like a tax differential, like the difference between actual and future taxes?


MR. MARTIN:  Correct.


MR. SHEPHERD:  And let it adjust itself over time?


MR. MARTIN:  That would be our proposal, because we don't have any –- obviously, you can't forecast that into your expense accounts, so our recommendation would be to -- a deferral account would become dynamic, based on that unamortized gain or loss.


MR. SHEPHERD:  So this is a backdoor way of --


MR. MARTIN:  More or less in perpetuity.  Yeah, it gets -– exactly.


MR. SHEPHERD:  Thanks.  This is not in the Board's report; right?


MS. O'CONNELL:  No.


MR. SHEPHERD:  This is something new that you have proposed?


MR. MARTIN:  Sorry, we are proposing to put the deferral account in, put it in a deferral account.


MR. SHEPHERD:  This approach to this kind of issue, I mean, everybody is dealing with the same issue.  Your approach is a new approach that we haven't seen from anybody else, I think.


MR. MARTIN:  Well, Ottawa, they are actually requesting to park it in a deferral account, as well.  Now, I don't know what -- I honestly don't know what they are anticipating to do with it in the future, because that number does go up and down.


MR. SHEPHERD:  Thank you.


MS. O'CONNELL:  I just wanted to clarify my comment on the actuarial evaluation.


My intent is not for you to incur costs of doing an actuarial evaluation, if you are not planning to put unamortized actual losses in a deferral account.  But if you are planning to put those losses in a deferral account, an underlying actuarial evaluation and recovering them -- an underlying actuarial evaluation would be beneficial.


MR. MARTIN:  What if we are putting them in a deferral account and not recovering them?


MS. O'CONNELL:  I think I can't speak for the Board.


MR. MARTIN:  It will cost approximately $25,000 to do an actuarial report.  We're glad to do it.  I have our valuator teed up to do it.


There is evidence that we have provided, where I have an e-mail and I have a table from Aon, our valuator, that does show the $2.5 million as the unamortized gain.


MS. O'CONNELL:  Loss.


MR. MARTIN:  Loss, sorry.  Freudian slip.


Show it as a $2.5 million loss, and based on that conversation and the fact that interest rates at that time hadn't significantly changed from the last valuation, that there is nothing to suggest that number would change dramatically.


MS. O'CONNELL:  So there would be no loss; there would still be a gain?


MR. MARTIN:  No, loss.


MS. O'CONNELL:  There would still be a gain, because interest rates increased in 2009?


MR. MARTIN:  No, our -- the last valuation we did, so I have a valuation report that supports the loss of $2.5 million.


MS. O'CONNELL:  That's not what is on the record.


MR. MARTIN:  As at December 31st, 2009, there is a valuation report, and the --


MS. O'CONNELL:  Can you show me where in the valuation report it supports that?


MR. MARTIN:  We will take -- I think it's best to do it as an undertaking.  I just want to get the undertaking clear.


If the Board is asking us to do a valuation, we will be happy to get a valuation done.


MS. O'CONNELL:  I can't speak on behalf of the Board, but as Board Staff, if you are proposing to recover an amount, evidence to support that amount would be beneficial.


MS. DJURDJEVIC:  Just to clarify, is this a new undertaking or is this a discussion about JT1.13?  That undertaking was with respect to the 2.6 million deferral account, so...


MS. O'CONNELL:  To validate the numbers, yes.


So I think that the original undertakings still apply, but just with the qualifier that an actuarial evaluation is not required if OPUCN is not proposing recovery at this time.


MR. SIDLOFSKY:  Sorry, my understanding of the exchange is that OPUCN is not requiring recovery at this time, so would Staff like an actuarial valuation or not?


If they do, Staff understand that that will cost approximately $25,000 for OPUCN to provide.  So we would like to be clear, I think, or at least OPUCN would like to be clear on whether Staff would like a valuation done, when there is already a clear intention expressed to not recover that amount.


MS. O'CONNELL:  So what is the intent of putting it in the deferral account, then?


MR. SIDLOFSKY:  Well, is your request that a valuation be done if OPUCN intends to require it at some time -- excuse me, intends to recover it at some time, or if OPUCN intends to recover it through this process?  They have already said they do not intend to recover it through this process.


MS. O'CONNELL:  I believe if you intend to recover it through this process, it would be required at this time, but if it is not being recovered at this time, if the intent is not to recover at this time, then I don't believe it would be required.


MR. SHEPHERD:  Is it fair to say that before they ask for recovery, they need to do a valuation?


MS. O'CONNELL:  Correct.


MR. SIDLOFSKY:  I think that's reasonable.  I think -- I don't want to speak for OPUCN, but I think they would probably agree that that's reasonable.  It is just a timing difference; do they need to do that now or do they need to do it when they intend to recover?


MR. BATTISTA:  I would suggest that that's a commitment to be made at some time in the future.


With respect to this proceeding, I think the applicant on a revised basis is asking for approval to establish a deferral account with respect to those costs and the ability to record, and that's it?


MR. MARTIN:  Yes.


MR. SAVAGE:  Correct.


MR. BATTISTA:  As to the validity and the appropriateness of the costs thereby recorded, that's for another time.


MR. SHEPHERD:  Well, okay.  Sorry, there is a difference between saying no valuation is required and saying there needs to be some justification for the number.


I mean, the original undertaking was that there was going to be a justification for the number.


MR. BATTISTA:  Yes.  There is a difference in some of the interest rates used, but in terms of taking the final step to say:  Well, do we really need a third party -– a proper and fulsome evaluation from an actuarial firm, that would wait.


MR. SHEPHERD:  Understood.  All I am trying to do is clarify that the original undertaking -- explain the 2.6 -- still stands.


MR. BATTISTA:  Yes.  That stands.


MR. SHEPHERD:  Right?


MS. O'CONNELL:  Correct.


MR. MARTIN:  Yes.


MS. O'CONNELL:  My next question is regards to the 94,000 that you are proposing to reduce OM&A with respect to this 2.6 million, the 94,000.


That 94,000 was brought up in Exhibit 10, Exhibit 10, page 16.

MR. MARTIN:  Does everybody have our handouts from this morning, the package?  If you go to the second last page of the handouts from this morning --


MR. CLARK:  Are you referring to responses to the technical conference questions?


MR. MARTIN:  Yes, sorry, the technical conference responses.


MR. CLARK:  They were by intervenor and Board Staff.  Which one are you looking at?


MR. MARTIN:  Sorry, the technical conferences that we handed out this morning.  I am not sure the package -- the packages we handed out this morning.


MR. CLARK:  Which had all the responses to Board Staff?


MR. MARTIN:  Yes.


MR. CLARK:  I don't have one full document.


MS. O'CONNELL:  Yes, I see it.  Here you say amortization due to curtailment, 93-800.


MR. MARTIN:  Sorry, it says CICA 3461.  It's an AON document.  It's got AON in the bottom right-hand corner.


MR. HARPER:  You are talking about the very last page of the entire document?


MR. MARTIN:  Sorry, yes, the very last page of the package.  Sorry, it's a little bit --


MR. SHEPHERD:  Oh, the benefits valuations right here?


MS. O'CONNELL:  The very last page, okay, amortization.


MR. MARTIN:  Okay.  So this table came from our -- from AON, our valuator.  You can see in the second line the unamortized net actuarial loss of 2.5 million.  So that is where we are getting the 2.5 million from.


And now you are bringing up the $94,000?


MS. O'CONNELL:  Correct.


MR. MARTIN:  You will see that under CICA accounting, the expense -- the benefit cost would be a million-one-twenty. It's the last line in the top box.


Under IFRS, under the premise that the unamortized loss is actually recognized, the benefit -- the cost that would be recorded would be a million-and-twenty-six, the difference being $94,000.  The amount that we included in our forecast was a million-and-twenty-six.


MS. O'CONNELL:  So your OM&A expense and other post-employment benefit expense was reduced by approximately 94,000?


MR. MARTIN:  It's always been a million-twenty-six.


MS. O'CONNELL:  But it's correct that the OM&A -- due to the amortization of the proposed 2.6 million, you are proposing a $94,000 decrease in OM&A due to other post-employment expense?


MR. MARTIN:  We forecasted the million-and-twenty-six in our original application evidence.  And the reference to the 94,000 is simply -- the reason why we forecast the million-and-twenty-six as opposed to the one million-one-twenty was on the premise that we were going to elect to recognize the unamortized loss.  So I think we are saying the same thing.


MS. O'CONNELL:  Yes, I think we are.


MR. MARTIN:  The amount that's in the forecast is the lower amount.


MS. O'CONNELL:  I guess I just had a question about how that 94,000 was derived, because it says in the AON report that the expected average remaining service life as at January 1, 2009 used to determine the amortization of gains or losses for the 2010 fiscal year is equal to 12.02 years, but 2.6 million divided by 94,000 is approximately 27.7 years.


MR. MARTIN:  I didn't test this report.  What I did, very simply, was the last box under GAAP is the estimated expense, according to AON, for the period January 1st, 2012 to December 1st, 2012.  Under GAAP it's a million-one-twenty; under IFRS for the same period, it's a million-twenty-six.


So I am basing my estimate on the valuation prepared by AON.  So that's where the million-twenty-six came from.


MS. O'CONNELL:  Is the 94,000 the amortization of the $2.6 million of unamortized actuarial losses that you are proposing to put -- park in the deferral --


MR. MARTIN:  I am not sure.


MS. O'CONNELL:  -- account?  You are not sure, okay.


MR. MARTIN:  I don't know.  As I say, we based the forecast on the report.


MS. O'CONNELL:  If I could have an undertaking, as you investigate the $2.6 million, if you could also investigate the 94,000?


MR. MARTIN:  I am not sure why.  I mean, what's wrong with using the million-twenty-six as the forecast?  It's essentially a third party professional valuation company providing us with what they considered to be the estimated expenses for 2012.


I am not sure why I would hire a company to do a valuation, and then test their valuation.


MS. O'CONNELL:  Well, why are you questioning the 2.6 million of unamortized actual losses?


MR. MARTIN:  I am not questioning it.  I believe the 2.554, according to AON, is in fact -- at current time that's the forecasted actuarial loss that we are dealing with.  So I am applying to put that amount in the deferral account on the basis that our valuator has indicated to me that that's the amount.


You are asking me, I think, to do my own valuation, I think.


MS. O'CONNELL:  I am not asking you to do your own valuation.  What I am asking you to do is, in conjunction with the undertaking, to look into the $2.6 million of unamortized actual losses that you are proposing to park into the deferral account, if you could also look into the $94,000 that you are proposing to increase OM&A by.


MR. MARTIN:  Fiona, we did not reduce the OM&A by 94,000.  The number has always been a million-and-twenty-six.  That's our forecast.  Our forecast for post-retirement benefits has been and still is a million-and-twenty-six, which we felt the best estimate for that is the amount that was given to us by our valuator.


MS. O'CONNELL:  I am quoting from page 16 of 16 of Exhibit 10:

"As a result, post retirement expense and OM&A for the 2012 test year will be lower under IFRS than CGAAP by approximately $94,000."


MR. MARTIN:  Yes, based on this report from AON.  AON is telling us that under CGAAP, we would be booking a million-one-twenty.  Under IFRS we would be booking a million-and-twenty-six. I am not sure the value of -- I don't see the value in me trying to understand how AON has determined that difference.


I am using the valuator's report to justify the million-and-twenty-six.


MS. O'CONNELL:  I guess my interpretation of how the 94,000 is derived, but I could be wrong, is that basically under CGAAP, that amount would be -- if CGAAP continued, that proposed $2.6 million would be amortized over the expected average earning service life and added to rates.


MR. MARTIN:  I am not saying that.


MS. O'CONNELL:  That's my interpretation, and then if you are proposing to park the 2.6 million into a deferral account, that money goes away, so you are no longer amortizing that through rates.


MR. MARTIN:  That's not -- I am much simpler than that. Under CGAAP, my valuator -- if I was doing a budget today under CGAAP, my valuator is telling me that my expense would be a million-one-twenty.  Therefore, under that, on their recommendation, I would forecast a million-one-twenty.  Under IFRS, my valuator is telling me the number is a million-twenty-six.


We are not questioning the valuator's report.  So the $94,000, I am not sure where it comes from and I am not sure if it's relevant.  I think based on the valuator's report, if we were to go and get a valuation done today, presumably, unless interest rates or other things have changed, this would be the valuator's report.


Based on that, I believe everybody would accept that as sufficient support for the million-and-twenty-six.  The reference to the 94,000 in the material was simply to provide the backdrop for the million-and-twenty-six.  Under GAAP, according to the valuator, it would have been a million-120.  Under IFRS, it's a million-26, again based on the valuator's report.


MS. O'CONNELL:  I don't want to keep beating this to death, but my interpretation is that that 94,000 that would have existed under CGAAP is just the amortization of this proposed unamortized actuarial loss, as you recognized that off-balance-sheet item into income?


MR. MARTIN:  So is the undertaking for me to get the valuator to explain to me the difference between their million-120 and their million-and-26?


MS. O'CONNELL:  How much would that cost?


MR. MARTIN:  I am assuming $25,000.  I would get a valuation done.


MS. O'CONNELL:  Okay.  For the sake of $25,000, I would not proceed with that, but my line of questioning was just to further my understanding and the underlying premise of the amount recorded in OM&A.  And if you are not willing to delve further into that amount, then I have to leave it at that.


MR. MARTIN:  Okay.  I think we leave it like that.  Thank you.

MS. O'CONNELL:  Okay.  If you want to go to Question No. 1, it's regarding the capitalization change due to the transition to MIFRS.

You stated that due to the transition to MIFRS, the test year, 2012, is a decrease in fixed assets of 505,000 and an increase in OM&A of 505,000.


Can you explain the impact of the capitalization change on the transition bridge year, 2011?


MR. SAVAGE:  We will take that as an undertaking.


MS. O'CONNELL:  Okay.


MS. DJURDJEVIC:  That will be Undertaking JT1.14.

UNDERTAKING NO. JT1.14:  to PROVIDE RESPONSES TO QUESTIONS 1 through 6 SET OUT IN EXHIBIT KT1.4.


MS. O'CONNELL:  And then I am moving to Question No. 2.  You state that the impact of depreciation expense change due to the transition to MIFRS for the test year is a decrease of 152,000.  That's due to the adoption of new depreciation rates and the reduction to fixed assets.


Can you explain the impact on depreciation expense on the transition bridge year, 2011?  What is the impact on 2011 depreciation expense?


MR. SAVAGE:  Again, we will take it as an undertaking.  We have all of this.  It can be quickly recalculated, but it's easier to do it off-line.


MR. SHEPHERD:  This is all in the evidence, isn't it?


MS. O'CONNELL:  No.


MR. SAVAGE:  Some is, some of these questions are, but a lot aren't.  The big missing factor is the 2011 MIFRS adjustment.  I think it relates to an undertaking we took for you earlier, to split the deferral account balance between the adjustment amount and the 2011 MIFRS depreciation expense.


MR. SHEPHERD:  Whatever this change is for 2011 is going to go in a deferral account, right?


MR. SAVAGE:  Yes.


MR. SHEPHERD:  Whether it's money you owe to the ratepayer or money that the ratepayers owe you, whatever the difference is, that has to go in a deferral account?


MR. SAVAGE:  Yes.


MS. O'CONNELL:  But the impact of the change in capitalization policy and changes in depreciation rates impacts the fixed asset continuity schedule, so what flows through the underlying fixed assets?


MR. SAVAGE:  Yes.  So the rate base will change, and the change will go into that deferral account.


MS. DJURDJEVIC:  Can we just restate that undertaking, which will be JT1.15?


MS. O'CONNELL:  So there are two undertakings.


One was to quantify the impact of the capitalization change on the transition bridge year, 2011; what is the decrease in rate base and increase in OM&A?


And then the second undertaking was to please explain the impact of depreciation expense on the transition bridge year, 2011, as a result of the change in capitalization policy and the adoption of new depreciation rates for the transition year, 2011.


MS. DJURDJEVIC:  So those will be undertakings JT1.15 and JT1.16 -- sorry, JT1.14 and 1.15.


MR. CLARK:  Let me just confirm or clarify something.


Your suggestion, Mr. Savage, is to put all of this into one undertaking?  Is that what you are suggesting?


MR. SAVAGE:  Yes, I think that would be a good idea.


MS. DJURDJEVIC:  So we don't have an Undertaking 1.15, just 1.14?


MR. CLARK:  Yes.  And JT1.14 would be an undertaking to provide the information requested in Questions 1 through...


MR. SHEPHERD:  Well, they are all related, aren't they?  1 through 6 are all related?  They are a consistent set of calculations?


MS. DJURDJEVIC:  Undertaking JT1.14 will be to provide responses to questions set out in Exhibit KT1.4.


MR. SHEPHERD:  1 through 6.


MS. DJURDJEVIC:  Questions 1 through 6.  All right.


MS. O'CONNELL:  Then there's is a new exhibit, which is from the prefiled evidence, that shows table 10, "Fixed Asset Continuity Schedule, 2011."


MS. DJURDJEVIC:  And that will be Exhibit KT1.5.
EXHIBIT NO. KT1.5:  TABLE 10 FROM PREFILED EVIDENCE, ENTITLED "FIXED ASSET CONTINUITY SCHEDULE, 2011."


MS. O'CONNELL:  So I will just move through 3 to 6 as briefly as I can.


Essentially, what we are looking for is confirmation that table 10 is prepared on a CGAAP basis, and then also to complete it on an MIFRS basis.


So the MIFRS basis would incorporate Questions 1 and 2, and also would ensure that no revaluation adjustments are incurred in the fixed asset continuity schedule, as previously discussed.


MR. SHEPHERD:  So that's where I asked the question before, because I thought that these tables were already in Exhibit 10.


MS. O'CONNELL:  These tables were in Exhibit 10, but they haven't -- the impact of the capitalization policy change and the adoption of depreciation rates for the bridge year are not incorporated into these tables.


MR. SHEPHERD:  But you have given an undertaking to give us --


MR. SAVAGE:  To do it, yes.


MR. SHEPHERD:  Yeah, okay.  That's JT1.7, I think.


MS. O'CONNELL:  And then under an MIFRS basis, the continuity of historical cost is important, so that even though for financial reporting purposes accumulated depreciation is set to zero as at January 1, 2011, for regulatory purposes the December 31, 2010 gross capital costs and accumulated depreciation become the January 1, 2011 gross capital costs and accumulated depreciation.

Also moving to the 2012 fixed asset continuity schedule, we noted that the stranded meters were not removed from table 10, and any updates to table 10 under CGAAP and MIFRS for the test year -- sorry, for table 11 should exclude the stranded meters.  So they are to be in 10, but -- they are to be in 10 but not in 11.  Sorry, do you want me to repeat that?


MR. CLARK:  The intent, as I understand it, is that the stranded meters come out in the year you put the smart meters into rate base, and, therefore, I believe you have stranded meters removed in 2011 -- I stand corrected there -- and I believe they should be left in 2011 and removed in 2012 when you put your smart meters into rate base.


MR. SAVAGE:  What we have done is we have accrued depreciation on the stranded meters in 2011 and effectively removed them 31st December 2011.  Are you saying they should come out 1st of January 2012 or is --


MR. CLARK:  No.  Well, it really doesn't make a matter over a split second, does it?  I don't know.


MR. HARPER:  It depends how you are calculating the average rate base.


MR. CLARK:  That is what I'm saying.  He said he is accruing the depreciation and they should be allowed the return for this and the depreciation for this because they haven't put their smart meters in to replace them.


You can argue against me on this, if you want, but you can't take this -- you can't take the stranded meters out in 11 and deny them the return and the depreciation on it and not put anything in to replace them.


MR. SHEPHERD:  This is a problem with how rate base is calculated.  You have to give them full year in both years, so you have to treat it as if it happened after December 31st, 2011 and before January 1st, 2012.


MR. BATTISTA:  It's sort of an in-between entry between 2011 and 2012.


MR. SHEPHERD:  To be correct, because it's not actually a new asset.


MR. SAVAGE:  What we have tried to do is incorporate the smart meters into our opening 2012 rate base, and we have also tried at the same time to have the stranded meters removed at the same -- so I think we are in agreement.


MS. O'CONNELL:  They are not removed.


MR. CLARK:  Then I didn't understand what you are doing.  If that is what you are doing, I am fine with that.


MR. SAVAGE:  That's certainly the intent in our refiled evidence.


MS. O'CONNELL:  Okay.


MR. CLARK:  Okay.  Thank you.


MS. O'CONNELL:  So I guess to confirm, then, table 11 should be refiled because -- for fixed asset continuity schedule 2012 under CGAAP, because the stranded meters are not removed.  So moving to the next question.


MS. DJURDJEVIC:  Do we need an undertaking for that?


MS. O'CONNELL:  No, it's part of the undertaking that addresses questions 1 to 6.


MS. DJURDJEVIC:  Okay, thank you.


MS. O'CONNELL:  Table 31, depreciation expense summary, confirm that it's CGAAP based and update as needed, and complete on an MIFRS basis accordingly.  Compare the two versions, total line, and explain the difference.


The comparison of the two versions, total line, and explain the difference, should also go into the fixed asset continuity schedule 2011 and 2012, and the 2012 depreciation expense summary, which I am moving to on table 32.


Confirm 2012 depreciation expense -- table 32, confirm the basis on which the table was prepared, MIFRS or CGAAP, and, as necessary, update the schedules for each of CGAAP and MIFRS, compare the two versions, total line, and explain the difference.


Next, I am moving to summary OM&A expenses, Exhibit 4, page 7, table 1.  For each of the 2011 bridge and 2012 test, confirm the basis on which the table was prepared, MIFRS or CGAAP.  As necessary, update the CGAAP and complete on an MIFRS basis.  Compare the two versions' total OM&A expense line and explain the difference.


So that would be the next undertaking, we can lump 7 and 8 together.  Okay, employee compensation.


MR. SAVAGE:  Sorry, Fiona, just a question.  No, actually I will take it offline later.


MS. O'CONNELL:  Okay.  Table 23, employee compensation, for each of the 2011 and 2012 years, confirm the basis on which this table is prepared, MIFRS or CGAAP.  As necessary complete an update on both an MIFRS and CGAAP basis.  So compare the last three lines of the table, total compensation, total compensation charged to OM&A, total compensation capitalized between the CGAAP and MIFRS and explain the difference.  So that's an undertaking to answer the questions in numbers 7 and 8.


MR. CLARK:  That will be JT1.15, and it will be reference KT1.4 to respond to questions 7 and 8.

UNDERTAKING NO. JT1.15:  TO COMPARE LAST THREE LINES OF THE TABLE 32, TOTAL COMPENSATION, TOTAL COMPENSATION CHARGED TO OM&A, TOTAL COMPENSATION CAPITALIZED BETWEEN THE CGAAP AND MIFRS, AND EXPLAIN THE DIFFERENCE.

MS. O'CONNELL:  Next I am moving to number 9, PILs, and that's Exhibit 4, page 71, table 36.  I believe you provided updated Table 36s in the last round of Board Staff interrogatories.  If you could update them once again with the revised rate base numbers and depreciation expense numbers, and also following through with the capital cost allowance from schedule 8?  You were going to look into that, as well.  That's an undertaking.


MR. CLARK:  That will be undertaking JT1.16 to answer --


MS. O'CONNELL:  So for each of 2011 bridge and 2012 test, confirm the basis on which the table was prepared, MIFRS or CGAAP; as necessary, complete on MIFRS and/or CGAAP basis and compare the PILs expense under each of MIFRS and CGAAP and explain the difference.
UNDERTAKING NO. JT1.16:  FOR EACH OF 2011 BRIDGE AND 2012 TEST, TO CONFIRM THE BASIS ON WHICH THE TABLE WAS PREPARED, MIFRS OR CGAAP; AS NECESSARY, COMPLETE ON MIFRS AND/OR CGAAP BASIS AND COMPARE THE PILS EXPENSE UNDER EACH OF MIFRS AND CGAAP AND EXPLAIN THE DIFFERENCE.

MS. O'CONNELL:  Next, I am moving to number 10, impact on rate base, revenue requirement and PP&E deferral account.  So for the impact on rate base and impact on revenue requirement, confirm the basis that the tables were prepared, i.e., if that was a true comparison between MIFRS and CGAAP; as necessary, complete and update and compare the revised MIFRS and CGAAP bases.


So the deferral account in relation to PP&E, I notice that you have smart meters added in, the comparison between PP&E values under CGAAP and PP&E values under MIFRS, and also the associated depreciation.  I believe from our discussions earlier that the smart meters should not be included in the 2011 bridge year.


And also there will be changes to the additions; the additions won't be the same under CGAAP and MIFRS, and the resulting depreciation will change.


Undertaking answer Question 10, yes.


MR. CLARK:  That will be Undertaking JT1.17, to answer question 10 on KT1.4.

UNDERTAKING No. JT1.17:  to ANSWER QUESTION 10 ON KT1.4


MS. O'CONNELL:  And then the last question, Question 11, so to update the revenue requirement work forms for the test year and prepare the form under two different bases, CGAAP and MIFRS.


I know that you have done the one under CGAAP, but that will have changed, due to things like the deferral and variance account rate rider changing due to the inclusion of 1592 and 1521, things of that nature, and MIFRS will certainly change as a result of our earlier discussions.

MR. CLARK:  And that will be JT1.18, to answer Question 11 on KT 1.4.

UNDERTAKING No. JT1.18:  to ANSWER QUESTION 11 ON KT1.4


MR. CLARK:  Does anybody have any further questions?


Mr. Battista has a couple of questions on the amended evidence that came in on October 13th.


MR. BATTISTA:  I will be very brief.


So it was just a clarification.  In that package, the first section, page 1 of 1, just to clarify that in terms of the value of the stranded meters in the table, the first sentence under the table says the estimated net book value of stranded commercial meters is 696,000.


I think you mean the stranded amount is really 591,000, rather than 696?  Like, 85 percent are stranded, so it's 85 percent of 696 is 591, which is your stranded amount.  Is that...


MR. SAVAGE:  That's correct.


MR. BATTISTA:  Correct?  Okay.


And on the next page, page 2 of 2, under "Impact" when you say Oshawa reduced its rate base by 1.9 million, is it rate base or is it your net book value?


I think it's book value, just to make sure we're...


That would be your closing balance, right?


MR. SAVAGE:  That's right, yes.


MR. BATTISTA:  Okay.  Just to be sure.


And then on the second paragraph, in the year 2012 under "Impact" depreciation expense was reduced by, if I look at table -- the table, the amount I would get is 183,000 rather than 171, because I was just adding 55,000 and 127,000.


MR. SAVAGE:  I think the 183 will be the GAAP depreciation, but if the meters were still in place, they would be depreciated under MIFRS, and the impact would be 171,000.


MR. BATTISTA:  But with respect to -- because if the strandeds aren't going to be in --


MR. SAVAGE:  No, but we are talking about 2012 is when we're saying the depreciation expense was reduced by 171.  So the assumption there is we will be under MIFRS.


MR. BATTISTA:  Oh, and that's the MIFRS version of depreciation?


MR. SAVAGE:  If it was CGAAP, it will be 183.

MR. BATTISTA:  Okay.  And my last question has to do with the load forecast.  Page -- it starts at page 5 of 5, but it's really with respect to the table, the "Impact" table on page 6 of 6.


This is a schedule that appears in -- the basis of which appears in the application.  It's a standard table, and it sort of gives us your current forecast of load, kilowatt-hours, kilowatts by rate class for 2011, '12 on a normalized basis.


It would be helpful if you could identify the amount of the CDM target that's incorporated in these numbers, because I am not sure whether the gigawatt targets that are to be realized by 2014 -- I would presume that you ran your load forecast model and you used the different number of customers and whatnot, other variables, came up with loads by rate class, and then took a separate step and reduced those loads with respect to the phase-in of your CDM program to meet the targets by '12-'14.  And it's not apparent by rate class what adjustments you made to your initial run.


So I don't know if you have embedded it in your model, or you made an adjustment after the fact.  It would be, I would imagine, helpful to the record and the panel to see if there were no CDM, this is how your numbers panned out, based on your current forecast new customers and, like, customer levels using geometric mean and whatnot, and those changes that you made, and then taking those lines and then subtracting manually, I guess, the CDM targets that are to realize the totals reflected on page 5 of 5, just so that it's clear, because now it's all embedded in one document, one table.


MR. MARTIN:  Essentially, what we did is we took the CDM targets off -- so we did the regression on purchases, kilowatt-hours purchased.  We then reduced the purchased amount or forecasted purchased amount by the amount of the CDM targets.


MR. BATTISTA:  Gross?


MR. MARTIN:  Gross.


MR. BATTISTA:  Oh, not by rate class?


MR. MARTIN:  yeah, and then the rate class affected was done after that.  So it was done on the -- so the allocation to the rate classes was done after we adjusted the purchases for CDM.  So it is embedded now; the way we did it, the results are embedded in the...


MR. BATTISTA:  Well, maybe, then, you could just -- just a quick table, then, saying your purchased forecast for '12, your updated '11 and '12, less whatever the CDM targets, which I presume are the totals on the table on page 5?


MR. MARTIN:  Correct.


MR. BATTISTA:  And then after that, you ran your models.  So there is no way of knowing how much of the CDM reduction is attributable to residential or general service greater-than-50, by rate class?


MR. MARTIN:  I don't think so, although I would have to look at the model again to see if I could reverse-engineer it.


MR. BATTISTA:  Various utilities do it in different ways, but in your case, you did it at the very beginning of the process, rather than at the end?


MR. MARTIN:  Correct.


MR. BATTISTA:  Okay.  Well, it would be helpful to have that, that initial breakout.


MR. MARTIN:  Okay.


MR. BATTISTA:  Identify in the load forecast calculation the reduction made to the purchased volumes prior to running the subsequent models, the reductions related to CDM target for 2011 and 2012.


MR. MARTIN:  Now, that's the table on page 5 of 5?


MR. BATTISTA:  Right.  Those are the CDM amounts.


MR. MARTIN:  Right.


MR. BATTISTA:  So we have to start sort of somewhere, which is your original purchased volume forecast for '11 and '12.


MR. MARTIN:  Okay.


MR. BATTISTA:  Less -- and then you say -- then you apply the load loss and all the rest of it to get to billing, and then you run your regression, right?  Or vice versa?


MR. MARTIN:  No, we run the regression on the purchases and --


MR. BATTISTA:  And then you do your load loss?


MR. MARTIN:  -- then we do the allocation.


MR. BATTISTA:  Okay.


MR. HARPER:  If I understand, the steps are you run the regression, you subtract 8.5 gigawatt-hours for CDM.  That gives you a net purchases after CDM.  You reduce that for losses, and then you do your allocation to customer classes after that?


MR. MARTIN:  Correct.


MR. CLARK:  That will be undertaking JT1.19, to show the reduction of the forecasted purchase volumes for CDM and for losses before they are allocated to the customer classes.

UNDERTAKING NO. JT1.19:  TO SHOW THE REDUCTION OF THE FORECASTED PURCHASE VOLUMES FOR CDM AND FOR LOSSES BEFORE THEY ARE ALLOCATED TO THE CUSTOMER CLASSES.

MR. CLARK:  Okay, I think the next thing on the schedule -- procedures, anyway, is the ADR, which is, I believe, the 14th of November.  And we have a number of undertakings.  I am just wondering...


I think the procedural order gave two weeks for the undertaking responses.  Does Oshawa think that is sufficient?


MR. SIDLOFSKY:  I think it might have been -- I thought that might have been one week.


MR. CLARK:  Is it one week?


MR. SIDLOFSKY:  With the ADR scheduled for November 2nd and 3rd.


MR. MARTIN:  Yes.  Oshawa, we have dedicated our life to this application, so we will endeavour to get them in by midweek.


MR. CLARK:  I am sure your families will be glad when it's over.  Okay, then the technical conference is adjourned.

--- Whereupon the conference adjourned at 3:27 p.m.
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